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Sub-Section 1d: 167943739
Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 16794311823 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
You are given a statement and two assumptions. Choose the comment about assumption from the given options below.

Statements:
The management of ABC Pvt. Ltd. asked the worker’s union to call off strike immediately otherwise the management
would be forced to close down the factory.

Assumptions:
[. No alternative other than closing down the factory is left for the management of ABC Pvt. Ltd.
II.  Such threat may have some effect on the worker’s union.

Options:
% Only assumption I is implicit

» Only assumption IT is implicit
» DBoth assumptions I & II are implicit

» Neither assumption I nor II are implicit

Question Number : 1 Question Id : 16794311823 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 2 Question Id : 16794311824 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Find the number of triangles in the following figure:

/\

Options:
® 6

« 10

% 11

Question Number : 2 Question Id : 16794311824 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Ao s & R fr gE 3 g #:{

/\

Options:

% B
« 10
# 11

% 12

Question Number : 3 Question Id : 16794311825 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Lalitha walked from a point A straight to B at a distance of 80 metres. She turned right and walked 50 metres, then

again turned right and walked 70 metres. Finally, she turned right and walked 50 metres. How far is she from the
starting point?

Options:
« 10 metres

% 15 metres
% 20 metres

% 50 metres

Question Number : 3 Question Id : 16794311825 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

ferar 80 X #r gff W A Rig & WY B 7% =ell| 38 a1¢ 9 a¢ 731 3R 50 e =T, B @ g
A< 70 HeT FF TN AT H, 3¢ G0 FI T 50 Arex T 7 T g & fFae g woe?
Options:

» 10 AT
% 15 HATT
% 20 AT

%« 50 HAET

Question Number : 4 Question Id : 16794311826 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

There are six children in a family. namely, L, M, N, O. P and Q. L and P are brothers. Q is the sister of P. N is the only
son of L’s uncle. M and O are the daughters of the brother of N’s father.

How many female children in the family?

Options:
® 2

3

® 4

®
LA

Question Number : 4 Question Id : 16794311826 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Correct : 1 Wrong: 0.25
AT A o o= g, S a7 L, M, N, O, P33R QEaad L3t PaE &1 Q PHFraga &I N, L
& =TT & Sweldl 97 81 M 3R O, N & R % &5 #r sfear g

ofEr & e w=fra §2
Options:

% 2

3
% 4

# b

Question Number : 5 Question Id : 16794311827 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Which of the following figures represents Intelligence, Happy. Strong?

@) @ (b) @
© 08 (@ @

Options:
# a

Question Number : 5 Question Id : 16794311827 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:
# da

Question Number : 6 Question Id : 16794311828 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Choose the correct alternative for the following.

KhaaC : CahaK : : DreeG :

Options:
% Gered

# Geerd
% GreeD

" GereD)

Question Number : 6 Question Id : 16794311828 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

ﬁmﬁﬁaﬂ:ﬁvuﬁr%ﬁqgﬁ:

KhaaC : CahaK : : DreeG :

Options:


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda24T7

% Gered
% Geerd

% GreeD

« GereD

Question Number : 7 Question Id : 16794311829 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
In the following question. there are two statements labeled as Assertion (A) and Reason (R).Choose the correct
alternative.

Assertion (A): A person with blood group O is considered a universal recipient.
Reason (R): Type O blood does not contain any antigens.

Options:
% A istrue but R is false

« A is false but R is true

» DBoth A and R are true and R is not the correct explanation of A

% Both A and R are false

Question Number : 7 Question Id : 16794311829 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 8 Question Id : 16794311830 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct : 1 Wrong: 0.25

Arrange the given words in alphabetical order and choose the one that comes last?

Options:
# Devise

® Devotee
« Devour

« Develop

Question Number : 8 Question Id : 16794311830 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0.25

few a7 el @ aUNaEA A cuatEd wY 3R BRI A 71 G A F TS H

Options:
# Devise

% Devotee
« Devour

« Develop

Question Number : 9 Question Id : 16794311831 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0.25

Find the odd one from the following:

Options:
% Mango

« Cashew

% Apple
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w Orange

Question Number : 9 Question Id : 16794311831 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

T=@a § ¥ Jfww & @ 1)
Options:
# HIH

o ™

« HE

xan_-l'li?ﬂ'

Question Number : 10 Question Id : 16794311832 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Find the missing number from the following.

Options:
® 120

Question Number : 10 Question Id : 16794311832 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:

% 120
% 224
v 244

% 256

Question Number : 11 Question Id : 16794311833 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

'Enough’, 'Excess' ¥ f&@ v Tafag & 38T 91 'Sufficiency’, ¥ g§afog gl

Options:
» Surplus

« Adequacy

% Sufficient

» Empty

Question Number : 11 Question Id : 16794311833 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
‘Enough’ is related to ‘Excess’ in the same way as ‘Sufficiency” is related to

Options:
» Surplus

« Adequacy

% Sufficient
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% Empty

Question Number : 12 Question Id : 16794311834 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
You are given two statements and two conclusions. Choose the comment about conclusion from the given options
below.

Statements:
No businessman is poor.
All businessmen are rich.

Conclusions:
I. No poor man is rich.
II. No rich man is poor.

Options:
% Only conclusion I follows

» Only conclusion IT follows

% Both conclusions I and 1T follow

« Neither conclusion I nor II follows

Question Number : 12 Question Id : 16794311834 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 13 Question Id : 16794311835 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Five students Ramya, Anu, Mala, Sunitha and Neela are sitting in a circle. Anu is sitting in between Ramya and Sunitha;
to Neela’s right Sunitha is seated. who is seated to Neela’s left?

Options:
 Ramya

« Mala
#% Anu

% Sunitha

Question Number : 13 Question Id : 16794311835 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

9T OIS T, 37, AN, AT AR AT T god # 335 §1 3, AT 3R GoAr & & dar g e &
afget 3R Felrar 36T &1 Frew & A AR HiT o1 82

Options:

w AT

« ATl

Question Number : 14 Question Id : 16794311836 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Find the correct alternative for the following.

23749 28]
Options:

® 64

w121
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# 169

# 100

Question Number : 14 Question Id : 16794311836 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

AT BT Tgr T T @)

25 149 -1 81
Options:

% 64
« 121
% 169

% 100

Question Number : 15 Question Id : 16794311837 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
When communicating information on an important company policy change, what sort of medium would you choose?

Options:
% Oral communication alone

% Written communication alone

» Oral communication followed by written communication

% Written communication followed by oral communication

Question Number : 15 Question Id : 16794311837 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
T HEeAqU FIA Al IR 9 FHFNT H HIR Fd FAT, H FH FE@RK T AegH g9

Options:

wm?—ﬁﬁmm

% hae G @91
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Question Number : 16 Question Id : 16794311838 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Find the missing character for the following.

2B

3C

| 13E

D

Options:
# 46H

# 36H

# 42H

 39H

Question Number : 16 Question Id : 16794311838 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Rfeag § ‘2 & T 9 i 837 98 HE?

1A

7

2B

3C

D
13E

Options:

% 46H

% 36H

% 42H



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda24T7

« 39H

Question Number : 17 Question Id : 16794311839 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
If “<” means “x’; * > " means ‘= ’; ‘S’ means ‘ — " and ° * * means ‘+°, then what would be the

valueof 24 * 6 <10>=5 $ 107

Options:
# 10

Question Number : 17 Question Id : 16794311839 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Eﬁ-i‘:!a;rw%-ixr; F}?HH&%L+?; I$F$|-3_T5&-%-I-_! aﬁTL*rﬂm%l-F’,
ar 24 « 6 <10 > 5 $10 & AF FIT L7

Options:

% 10
% 16
% 25

« 26

Question Number : 18 Question Id : 16794311840 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
If you go north, turn right, then right again and then go to the left. In which direction are you going now?

Options:
# North
# South

" East
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% West

Question Number : 18 Question Id : 16794311840 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

IfE 39 3eaX F AR A &, A ¢ 75, T A Aq¢ A7 AR B 9% i I 3w e e Rem A S
w37

Options:

% Jcod

=]

oo

% ITEH

Question Number : 19 Question Id : 16794311841 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
A number (integer) is greater than 5 but less than 9. Also, it is greater than 7 but less than 10. The number is:

Options:
® 6

® 7

8

Question Number : 19 Question Id : 16794311841 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

T TEAT () 5 & IH0F § AR 9 ¥ w4 g1 58 HiaREd, T8 7 ¥ 30w § Afha 10 ¥ FH g
I &A1 F47 gre?

Options:

% B

x 7/

v 8
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% 9

Question Number : 20 Question Id : 16794311842 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

In a certain language. PEACOCK is coded as RGCEQEM, then in the same coding language, how the word REGULAR
will be coded?

Options:
# TFIWNCT

« TGIWNCT
# TGIVNCT

# TGINWCT

Question Number : 20 Question Id : 16794311842 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
T seT #, PEACOCK & RGCEQEM Tr@r Sar &, & 38T 911 # REGULAR & =7 for@r Seem?

Options:
% TFIWNCT
« TGIWNCT
# TGIVNCT
% TGINWCT
Gerneral Awarensss
Group Number : 2
Group Id: 167943373
Group Maximum Duration : 0
Group Minimum Duration : 0
Revisit allowed for view? : No
Revisit allowed for edit? : No
Break time: 0
Group Marks: 20
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Section Id : 167943432
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Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questionsto be attempted: 20
Section Marks: 20
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 167943740
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 16794311843 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Who among the following proposed the Vernacular Press Act in British India, in 1878, to curtail the freedom of the
Indian-language (i.e., non-English) press?

Options:
» Lord Lytton

% Lord Ripon
« Lord Mayo

% Lord Dufferin

Question Number : 21 Question Id : 16794311843 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Trafef@a # o Bas 1878 # odg 4w (31T A3 97 fr HEE F FH W F Bv e
AT # FoApeR FH Tae &1 FEaE Tig T f&ar ar?

Options:

gﬂ% EEG
%® CIE] ITEr]
% g AT

% TS ST

Question Number : 22 Question Id : 16794311844 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Who was the adopted son of the last Peshwa, Baji Rao II?

Options:
% Bhau Sahib

+ Nana Sahib
% Raghunath Rao

w WNaravan Rao

Question Number : 22 Question Id : 16794311844 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

A FerEr, SST TF AT gaRT e O S A 9F w92
Options:

« H13 wies
» AT \gT

o e 9

% ARHOT 9

Question Number : 23 Question Id : 16794311845 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Who wrote the book ‘Poverty and Un-British Rule in India’?

Options:
» Dadabhai Naoroji

% Subhash Chandra Bose

% Pandit Jawaharlal Nehru

% Bipin Chandra Pal

Question Number : 23 Question Id : 16794311845 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

‘qradt U3 -y w1 59 $EAT graw s o o2
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Options:

SIS /RIS

Question Number : 24 Question Id : 16794311846 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which of the following countries shares the longest land border with India?

Options:
% Pakistan

% Nepal
» Bangladesh

% Myanmar

Question Number : 24 Question Id : 16794311846 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
i@ # & #ia &7 oo 9Ra F a1y Fag o SfF AT A= w1 22

Options:

% TTTeREdT
% 9T
v FTolTeer

a@?-_ﬂmﬁ

Question Number : 25 Question Id : 16794311847 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

e v # w8y 97 et g arer & AR ST amar 22
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Options:

x FTHET
v T
w qar

w ST

Question Number : 25 Question Id : 16794311847 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
On which river in Madhya Pradesh is the Gandhi Sagar Dam built?

Options:
% Narmada

« Chambal
# Rewa

% Betwa

Question Number : 26 Question Id : 16794311848 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Under which article of the Constitution of India is the Lieutenant Governor of National Capital Territory (NCT)
of Delhi appointed?

Options:

« Article 239

% Article 245
% Article 139

% Article 145

Question Number : 26 Question Id : 16794311848 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
AT & WU F FF =0T ¥ dgd TSaT TS & e (Taed) & 3u-usaae fages o
<1 i

Options:
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., HI=T 145

Question Number : 27 Question Id : 16794311849 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
The Chief Election Commissioner and the two Election Commissioners draw salaries and allowances
at par with those of the:

Options:
% Cabinet Secretary

% Governors of states

» Judges of the Supreme Court of India

% Speaker of Lok Sabha

Question Number : 27 Question Id : 16794311849 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
A= e 3gFa 3R & foeee agea FEe AR 39 399 AR aed Wod S 87

Options:

% Hiveic @

% AT & T=T9Tel
v 9T ¥ Taf=T =T & Faramedrer

% OIeh THT & HeOel

Question Number : 28 Question Id : 16794311850 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Who is a pro-tem speaker?
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Options:
% The speaker of a state assembly who is appointed by the president of India

% The speaker of a hung state or central assembly
» The speaker of an assembly which is dissolved by the governor

» The temporary speaker who presides over the first meeting after the election

Question Number : 28 Question Id : 16794311850 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
FTATA eTET (F-2H THE) FiT 2ar 27

Options:

., T T=T uredsT & 7ot St #Rd & Toguia ga @gaa e o g

. TRIG FTEAT AT FAT T & T

« 37 Turamem & eger 58 T=gare g@nr e fEar S g

#ymiﬁmsﬁgm#mqﬁaﬁ%maﬂﬁ%ﬁ

Question Number : 29 Question Id : 16794311851 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
If the exports of a country exceed its imports, the country is said to have a favourable:

Options:
+ Balance of trade

« DBalance of payment

# Trade deficit

% Invisible Trade

Question Number : 29 Question Id : 16794311851 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

ofe et gor 1 Aaa s@F 3T ¥ A0 g, aF 3o 1 fheed e AT S 82
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Options:
TR & HJod

., T & el

% <9l are

# AT =[N

Question Number : 30 Question Id : 16794311852 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Which of the following became the first Indian company to breach $100 billion market capitalisation in April 2018?

Options:
» Tata Consultancy Services

% Reliance Industries Limited
% ArcelorMittal

» Infosys Limited

Question Number : 30 Question Id : 16794311852 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

e 2018 #H $100 e Sl SietoT &I s IR et aTell [Hedoiad H 8 Hied 8 Tgal
HRET FIAT 99 T 87

Options:

v 22T FHecHr glaa

% HTHeR fAega

Question Number : 31 Question Id : 16794311853 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which of the following monuments was built by Maharaja Sawai Pratap Singh in the year 17997
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Options:
+ Hawa Mahal

% Victoria Memorial

% Mysore Palace

% Buland Darwaza

Question Number : 31 Question Id : 16794311853 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

1799 H FERI=T §9 999 g = =R § & =7 o A a3 9
Options:

w Bal Hgol
« i@ AT
. HE S

Qa:::

Question Number : 32 Question Id : 16794311854 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Jasrota Paintings can be associated with which of the following states?

Options:
« Jammu and Kashmir

% Sikkim
» Gujarat

% Bihar

Question Number : 32 Question Id : 16794311854 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

FEET Fenr & =g § @ 9 =T ¥ ST 31 g 22

Options:
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Question Number : 33 Question Id : 16794311855 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which of the following is the most common folk dance of Rajasthan performed only by women during special
occasions like weddings and festivals?

Options:
« Ghoomar

% KachehhiGhodi dance
% Povadas

% Bhavai dance

Question Number : 33 Question Id : 16794311855 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
i@ § & #i9 O T9Ea F G99 HH AF o7 Fao Afgenat g 9w R wgr J9
oy 3=t % e B S 2

Options:

-

® F=0 WHFT
o, TraTsTH

Question Number : 34 Question Id : 16794311856 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Who among the following won gold in the vault event of FIG Artistic Gymnastics World Challenge Cup at Mersin.
Turkey 20187

Options:
» Dipa Karmakar

% Rifda Irfanaluthfi
% Goksu Uctas Sanli

% Bisheshwar Nandi

Question Number : 34 Question Id : 16794311856 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
gl 2018 & Affw # ST wwagsh wfeffes Saaltes ae2 Fos #9 & afee 39¢ # =07 w=
e Siar &7

Options:

» XA FHIATHT

. ST STHTeeaT

dﬁq-ﬂ 3Fd9 GTeAelr

®

« Tredeay FEr

Question Number : 35 Question Id : 16794311857 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
The 2020 ICC World Twenty20 Cricket tournament is scheduled to be organized in:

Options:
% India
% Bangladesh

% Canada

« Australia

Question Number : 35 Question Id : 16794311857 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 36 Question Id : 16794311858 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Which rare gas is present in air, in the greatest amount. by volume?

Options:

 Argon

% Helium

% Radon

« Krypton

Question Number : 36 Question Id : 16794311858 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Hid W goet 3 g F wew Hfow A 7 AlGg 87
Options:

gﬂﬁﬁ

Question Number : 37 Question Id : 16794311859 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which of the following countries is NOT a member of the Shanghai Cooperation Organisation?
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Options:
» Tajikistan

» Singapore
« Kyrgyzstan

% India

Question Number : 37 Question Id : 16794311859 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

frafaf@a & @ 9 °7 2 Aus GEAET §ST FT HEET el 87
Options:

A ICUETSIG

w ANC

Question Number : 38 Question Id : 16794311860 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
When is World Blood Donor Day observed every year?

Options:
o« TH April

o 30™ May

 14% June

o 1% July

Question Number : 38 Question Id : 16794311860 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

faeg =9 aar g 93+ a¥ &9 HaT J1Gr 27

Options:
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Question Number : 39 Question Id : 16794311861 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

The Government of India has approved green license plates for:
Options:

» Bicycles

% DBoat taxis

« EBlectric vehicles

# CNG vehicles

Question Number : 39 Question Id : 16794311861 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
SR TWHR F A F=dg ooret & Fas e aslf ¢ & 2

Options:

w TTSTRal
wﬂ'ﬁm
o g et

"= SIgar

Question Number : 40 Question Id : 16794311862 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Who among the following holds the record of being the world’s oldest elected leader?

Options:
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% Sabah Al-Ahmad Al-Jaber Al-Sabah of Kuwait

% Kim Yong-nam of South Korea
» Mohamed Beji Caid Essebsi of Tunisia

» Mahathir Mohammad of Malaysia

Question Number : 40 Question Id : 16794311862 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Bt A s e B v e SR S e R
(:ti;:r-r & TET IH-3gHAC Hel-Fa Hel-Ta8

« SIEUT HINGT & FF Te-A17

o STATRIT & HIGEAS ST e CEHSH!

TR % TR AeE

Arithrnetic Ability

Group Number : 3

Group Id: 167943374
Group Maximum Duration : 0

Group Minimum Duration : 0

Revisit allowed for view? : No

Revisit allowed for edit? : No

Break time: 0

Group Marks: 20

Arithrmetic Ahility

Section Id : 167943433
Section Number : 1

Section type: Online
Mandatory or Optional: Mandatory
Number of Questions; 17
Number of Questionsto be attempted: 17

Section Marks: 20
Display Number Panel: Yes

Group All Questions: No
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Sub-Section Number: 1
Sub-Section 1d: 167943741
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 16794311863 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
(0.012)2+0.000000512
{0.012)% —0.000096+0.000064

The value of

Options:
% 0.002

o 0.02

Question Number : 41 Question Id : 16794311863 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

(0.012)%+0.000000512 5

> FT Ho g
(0.012)2—0.000096+0.000064 ~

Options:

% 0.002
« 0.02
% 0.022

% 0.20

Question Number : 42 Question Id : 16794311864 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
2.254+ 1.38 — 1.86 is equal to:

Options:
x 1.72

. 1.668
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« 1.769

% 1.196

Question Number : 42 Question Id : 16794311864 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

2.254+1.38—1.86, * TAT & 2
Options:
% 1.72

. 1.668
« 1.769

. 1.196

Question Number : 43 Question Id : 16794311865 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
If x = 2472 — 23% — 27'° then what is the digit at unit’s place of x ?

Options:
® 3

4

®
LA

Question Number : 43 Question Id : 16794311865 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
ofE x = 2422 - 23%1 —27° x fr SFES F TAT I FiT T 37F HAM?

Options:

x 3

« 4


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda24T7

% 6

Question Number : 44 Question Id : 16794311866 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0.25

15

g ek e @i, B e o ALY 2 :
35+ETZG’F4 ng.saf(ls 13) is equal to:

Options:
4 1
# 30

Question Number : 44 Question Id : 16794311866 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
3%+1+%afi—3xg+ﬁaf(1§—1§), * WA g 2l

2 5 g

Options:

41
% 30

Question Number : 45 Question Id : 16794311867 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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A cake weight 2 kg I 4; of its weight is flour, ; of its weight is sugar, i of its weight is milk and the rest is nuts and
plums, what is the weight of nuts and plums in the cake?
Options:

5

ok
»28 5

g
% 28 ©

Question Number : 45 Question Id : 16794311867 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
wm2kgmm%luﬁmmﬂ$ wﬁm%,ém,ﬁ%,%meg:%maﬁ
9ISTH UF S0F g, af &% H 9gH 3T SIH &7 99 F4T aem?

Options:
5

ok
»28 5

Question Number : 46 Question Id : 16794311868 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

The HCF of two numbers is 15 and their product is 18,900. How many such pairs of numbers are possible?
Options:

% 1
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Question Number : 46 Question Id : 16794311868 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

&I FART FT AgcaR® FAMEIF (HCF) 15 § T 37 391 18,900 §1 37 9K & 78T & fohae A5
Options:

% 1

% 2
v 4

% B

Question Number : 47 Question Id : 16794311869 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

The LCM of two numbers is 341. What is their HCF?
Options:

v 1

® 11

# 31

% Cannot be determined

Question Number : 47 Question Id : 16794311869 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
ar FE @ AL H FATET (LCM) 341 g 3a% Ageadd HAMad® (HCF) & g2

Options:
v 1

% 11
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% 31
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Question Number : 48 Question Id : 16794311870 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

2.2=2:3w@ . =5:6, A a:b:c T M
a b b ¢

Options:

g 5269

% 6:5:9

% 9:5:6

w93:6:5

Question Number : 48 Question Id : 16794311870 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

1f§:§=2:3 andi: —5:6,whatisa:bh:ic?

m| e

Options:
® 5:6:9

®6:5:0
# 9:5:6

swP:6:5

Question Number : 49 Question Id : 16794311871 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
By selling 20 articles, a person gains an amount equal to the cost price of 4 articles. What is his gain percent?

Options:

0
w3ﬁ]

# 16%
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Question Number : 49 Question Id : 16794311871 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

20 FEg3T FT FH W v wfFT Fr 4 I P A F TAS ARG TE F oA 9d e ¢ 3EF
ST FT IfgerT F41 87

Options:

S0
— 9%
% 3

% 16%
« 20%

% 25%

Question Number : 50 Question Id : 16794311872 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
A dealer allows a discount of 25% and still gains 25%. If the cost price of the article is ¥ 540. what is it marked price?

Options:
% < 824

% < 840
% < 860

« < 900

Question Number : 50 Question Id : 16794311872 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
TF SO, 25% N TE WEIA FaT ¢ AR T o 38 25% F @y wea g g1 IfE avg & AR A5
7540 g, o 3uer fega o F=4r ge e

Options:

% < 824

% < 840
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% < 860

v < 900

Question Number : 51 Question Id : 16794311873 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

A person deposits T 6.400 in a bank. After 6 months, he again deposits the same amount. If bank pays 8% interest
compounded half vearly, how much interest he will get after 12 months of first deposit?

Options:
« X 778.24

% < 537.84
% < 740.64

% < 545.38

Question Number : 51 Question Id : 16794311873 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

T =TTeg a8 H T 6,400 T UM FTAT FLT g1 6 ALEAT & a6 I T T 3dar &7 TR AT FLar 2
g 8F @RI 8% 3IEANH T ¥ FANSIA AT H1 SFIAIA fohdT AT A Tge AT % 12 A=l & a5
3H =T F AT [T 9o gei?

Options:

v 778.24

% X 537.84
% < 740.64

% < b45.38

Question Number : 52 Question Id : 16794311874 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

The radius of a base of a cylinder is increased by 100% and its height is increased by 200%. What is percent increase in
the curve (lateral) surface area?

Options:
# 300%

% 400%
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« 500%

# 600%

Question Number : 52 Question Id : 16794311874 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

ez & Fwel gag & Baw # 100% seieadr $r J1Er § 99T 3T Fa75 & 200% & geieadr $r
ST 81 39 I% (5 uedfa-eeyd) Tag ¥ H Bhaer o saeadr e

Options:

300%

i

400%

i

+ 9500%

600%

4

Question Number : 53 Question Id : 16794311875 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
A and B take round of a circular path of 50 m, in the same direction, starting from a point P. When B reaches the starting
point P the first time, he meets A there the fourth time. What is the ratio of speeds of A and B?

Options:
v Lo |

Question Number : 53 Question Id : 16794311875 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

A AT B 50 m & 3lemer AT, # T & few 7 @ g P § =99 oF #%a €1 59 B, 9ol aX
AT g P 9X 9g=rar B, A 3HH e A F @il & S 7l Wil 9w 9gen §1 A Rk B & oty @
AT FT 272

Options:

o h

x4 ;1
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Question Number : 54 Question Id : 16794311876 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
A can complete certain work in 20 days and B can complete the same work in 30 days. If both started the work together,
but A left 10 days before the work was completed. in how many days the work would now be completed?

Options:
% 12 day

» 15 day
% 16 day

» 18 day

Question Number : 54 Question Id : 16794311876 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

A e w18 #r 20 RS & 91 T FeraT € 9T B 38 &1 & 30 R A U W waar g1 IR A A
TH WY HA YF HA W FA G A & 10 G Tger A FF sisat gar 73, o o Ry 7 e
forae et & U e 51 wepar 22

Options:

w12 =
« 15 f&=
x 16 f&a
v 18 f&=

Sub-Section Number: 2
Sub-Section 1d: 167943742
Question Shuffling Allowed : Yes

Question Id : 16794311877 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (5510 56)
Cuestion Label © Comprehension
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Study the following table regarding the distribution of students in five
colleges percentage wise. All five colleges offer only three disciplines.

College Discipline
Humanities Commerce | Science | Total Students
A 25% 35% -- 1400
B 20% -- 40% --
C 15% 30% -- 1800
D 28% 32% 40%p 2300
E 20% -- 35% 3240
Sub questions

Question Number : 55 Question Id : 16794311878 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

If the number of students in Commerce stream
in college B is 800, how many students are in
all colleges?

Options:
% 1.800

% 1,900
 2.000

% 2.200

Question Number : 56 Question Id : 16794311879 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Total students of Humanities in all 5 colleges
together is what percent of total students in
all colleges, correct to one decimal place?

Options:
# 19.8%
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Question Id : 16794311877 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension

Questions: No
Question Numbers: (5510 56)
Juestion Label - Comprehension

rraeaa arolt () #T 37T i forgd g I 9=
Flowl & fagaaar & e & e gevga g1 w3l 9=
FlotaAl H hael ITIFd TSTHA F&d T I &

FTore ITSTFHH

Forl | aiftisw | faamer | or fagameiteror

A 25% | 35% -- 1400
B 20% -~ 40% -

C 15% | 30% -- 1800
D 28% | 32% 40% 2300
E 20% - 35% 3240

Sub questions

Question Number : 55 Question Id : 16794311878 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct : 1 Wrong: 0.25

Ifg FiersT B #, 0T TSTFHH H
faenfiar & g&ar 800 g, ar @l Fie=r
# Tt $r Fo w=wm F4 ?

Options:

% 1,800

% 1,900

» 2,000

% 2,200

Question Number : 56 Question Id : 16794311879 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0.25

Tt ielsll H Fof Taeaiaar Fr gosr 7 Tsf

5 Flotsil H Holl H Hol [aganraar,

gTaera &k TF AT & T d& 4T giEm?
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Options:

% 19.8%

« 21.5%

% 22.6%

% 24.8%

Sub-Section Number: 3
Sub-Section 1d: 167943743
Question Shuffling Allowed : Yes

Question Id : 16794311880 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (57 to 58)
Cesticn Label | Comprehension

Read the line graph which shows the number of boys and

number girls in different departments in a college.

Mumber of Boys and Girls in different department
320 =

280 1 — — — £

240

200 1

160 4 :
= o of girls

L) == o of boys

Mumber of students

BO

40 1

A B C o E F
Departments

Sub questions

Question Number : 57 Question Id : 16794311881 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
What percent are girls of all students in all the

departments (correct to one decimal place)?

Options:
% 52.6%
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# 54.8%
« 55.4%

® 55.8%

Question Number : 58 Question Id : 16794311882 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
In which department the percentage of girls is

highest?

Options:
A

% B

Question Id : 16794311880 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (57 to 58)
Juestion Label - Comprehension

TH Fiod H ¥ BamEn & w55 3R o=far & §ag 7
ST W AE FT I7TA F
fafdea e & 3u@ug o= 3T asal & e

320

280

240

o W
= / /\ /\/ et 1 e

120 / +ﬂ§ﬁ?ﬁ'm

Rl #r s

o & &

Sub questions
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Question Number : 57 Question Id : 16794311881 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Tl fawmett 7 welr fgmfaat & gemr &
asferdt &1 Siaere a1 § (3% T SuHed &
I TF)?

Options:

% 52.6%
% 54.8%
« 55.4%

% 55.8%

Question Number : 58 Question Id : 16794311882 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
g fuer & w=fFat F g g9
o &2

Options:

« A
% B

x C

Sub-Section Number: 4
Sub-Section 1d: 167943744
Question Shuffling Allowed : Yes

Question Id : 16794311883 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (59to 60)
Juestion Label @ Comprehension
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Study the venn diagram that gives the number of candidates

who failed in different subjects. 900 candidates appeared
in the examination comprising Hindi, English, Marathi.

Hindi English

=\

Marathi

Sub questions

Question Number : 59 Question Id : 16794311884 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
What is the percentage of students who failed in
at least two subjects?

Options:
#® 7.5%

« 8%
# 8.4%

# 8.6%

Question Number : 60 Question Id : 16794311885 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
What is the percentage of students who passed in

all three subjects correct to one decimal place?

Options:
# 65.2%
% 65.8%

« 66.7%

® 67.2%
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Question Id : 16794311883 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension

Questions: No

Question Numbers: (59 to 60)

Juestion Label - Comprehension

SEqd a2 & srewas Y e fdes Rt &
Hﬂ?ﬁﬁ?ﬁmﬁﬁﬁmﬂdwmumwﬁf
T3, 3 3k wET Fr aEEteg afem & 900 g

43 2l

Sub questions

fedr

g

Question Number : 59 Question Id : 16794311884 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

FH T &H o Fwar # Heedor
gigenferaT @ gfgea Far §2

Options:

7.5%

i

« 8%

8.4%

0

8.6%

4

Question Number : 60 Question Id : 16794311885 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Tt g RAwat # 3ot gigenfEat F o afaeg
FT E, BF IHAT & TF TUH TF?

Options:

% 65.2%
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% 65.8%

« 66.7%

% 67.2%

Group Number :

Group Id :

Group Maximum Duration :
Group Minimum Duration :
Revisit allowed for view? :
Revisit allowed for edit? :
Break time:

Group Marks:
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Section Number :
Section type:
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Number of Questions:
Number of Questionsto be attempted:

Section Marks:
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Group All Questions:
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Question Shuffling Allowed :

reneral English
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167943375
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No

No

0
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General English

167943434
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20
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No
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167943745
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Question Number : 61 Question Id : 16794311886 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

From the given options choose the one that would mean the SAME as wander.

Options:
% focus

" 1041l

# concentrate

% reduce
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Question Number : 61 Question Id : 16794311886 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
From the given options choose the one that would mean the SAME as wander.

Options:
% focus

o 1O
# concentrate

% reduce

Question Number : 62 Question Id : 16794311887 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
From the given options choose the one that means the OPPOSITE of

inauspicious.
Options:
« unlucky

# unfavourable
» bropitious

% incapable

Question Number : 62 Question Id : 16794311887 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
From the given options choose the one that means the OPPOSITE of

inauspicious.
Options:
% unlucky

% unfavourable

» propitious
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% incapable

Question Number : 63 Question Id : 16794311888 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Detect the mis-spelt word from the given options.

Options:
% allure

% dissuade

5% business

» proffession

Question Number : 63 Question Id : 16794311888 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Detect the mis-spelt word from the given options.

Options:
% allure

% dissuade

% business

» proffession

Question Number : 64 Question Id : 16794311889 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

From the given options, select the one that represents the appropriate meaning of the underlined IDIOM in the sentence
given below.

Old people sometimes become hard of hearing,
Options:
» Unable to hear clearly

« Lose their eyesight

% Unable to remember
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« Weak and incompetent

Question Number : 64 Question Id : 16794311889 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
From the given options, select the one that represents the appropriate meaning of the underlined IDIOM in the sentence

given below.

Old people sometimes become hard of hearing,

Options:
» Unable to hear clearly

« Lose their eyesight

% Unable to remember

% Weak and incompetent

Question Number : 65 Question Id : 16794311890 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
From the given options, select the word that can substitute the underlined words in the sentence given below.

As the car neared the bungalow. a curious feeling happy times spent in the past. overwhelmed me.

Options:
5 enigma

» nostalgia
% somnolence

% insommnia

Question Number : 65 Question Id : 16794311890 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
From the given options, select the word that can substitute the underlined words in the sentence given below.

As the car neared the bungalow, a curious feeling happy times spent in the past. overwhelmed me.

Options:
% enigma
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» nostalgia
% somnolence

% insommnia

Question Number : 66 Question Id : 16794311891 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Fill in the blank in the sentence given below with the correct option.

A: It’s raining heavily outside. we order another cup of coffee and some sandwiches?
B: Perhaps we do that.

Options:

w Can; will

» Shall; can

«% Need; must

w Must; would

Question Number : 66 Question Id : 16794311891 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Fill in the blank in the sentence given below with the correct option.

A: It’s raining heavily outside. we order another cup of coffee and some sandwiches?
B: Perhaps we do that.

Options:

w Can; will

» Shall; can

% Need; must

« Must; would

Question Number : 67 Question Id : 16794311892 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Fill in the blank in the sentence given below with the correct option.

I a car now. [ it last month.

Options:
» Don’t have; had sold

% Having : buy
% Am not having ; sold

% Will not have; was selling

Question Number : 67 Question Id : 16794311892 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Fill in the blank in the sentence given below with the correct option.

1§ a car now. [ it last month.

Options:
» Don’t have; had sold

» Having ; buy
% Am not having ; sold

» Will not have; was selling

Question Number : 68 Question Id : 16794311893 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Fill in the blank in the sentence given below with the correct option.

A: What are you in the bookshelf?
B: One of my all time favourites. “The Palace Of Illusions.’

Options:
« looking after

» looking around

» looking for
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» looking forward to

Question Number : 68 Question Id : 16794311893 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Fill in the blank in the sentence given below with the correct option.

A: What are you in the bookshelf?
B: One of my all time favourites, “The Palace Of Illusions.’

Options:
» looking after

» looking around
» looking for

% looking forward to

Question Number : 69 Question Id : 16794311894 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Fill in the blank in the sentence given below with the correct option.

It’s time we for the station. I think we must give plenty of time to reach in this rush hour.

Options:
% EO. 1S

« Start; them
» leave: ourselves

w Start; themselves

Question Number : 69 Question Id : 16794311894 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Fill in the blank in the sentence given below with the correct option.

It’s time we for the station. I think we must give plenty of time to reach in this rush hour.

Options:
% EO.US
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« Start; them
» leave: ourselves

« Start; themselves

Question Number : 70 Question Id : 16794311895 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Given below is an incorrect sentence. From the given options, select the part that has an error.

Ramesh dropped into college so that he can help his father with the growing business.

Options:
» dropped into college

% he can help
% his father

% growing business.

Question Number : 70 Question Id : 16794311895 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Given below is an incorrect sentence. From the given options, select the part that has an error.

Ramesh dropped into college so that he can help his father with the growing business.

Options:
» dropped into college

% he can help
% his father

% growing business.

Question Number : 71 Question Id : 16794311896 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Given below is an incorrect sentence. From the given options, select the part that has an error.

A: You love pastries, isn’t it?

B: Yes. but I am too full at the moment.
Options:

# You love

o 1507t it
% butIam

% at the moment

Question Number : 71 Question Id : 16794311896 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Given below is an incorrect sentence. From the given options, select the part that has an error.

A: You love pastries, isn’t it?

B: Yes. but I am too full at the moment.
Options:

# You love

o 1517t it
% butIam

% at the moment

Question Number : 72 Question Id : 16794311897 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Select the P4SSIVE VOICE form of the given sentence.

My husband told me to wait near the entrance till he comes back with the tickets.
Options:
% Till he came back with the tickets I stood at the entrance.

% I stood at the entrance till my husband came back with the tickets.

% Itold my husband to get the tickets while I stood at the entrance.
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» I was told by my husband to wait near the entrance till he came back with the tickets.

Question Number : 72 Question Id : 16794311897 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Select the PASSIVE VOICE form of the given sentence.

My husband told me to wait near the entrance till he comes back with the tickets.

Options:
% Till he came back with the tickets I stood at the entrance.

% I stood at the entrance till my husband came back with the tickets.
% I told my husband to get the tickets while I stood at the entrance.

» I was told by my husband to wait near the entrance till he came back with the tickets.

Question Number : 73 Question Id : 16794311898 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Select the INDIRECT FORM of narration of the given sentence.

“The camel milk business is a ray of hope for our community.” said Raika ,a camel breeder from Barmer.” The income
from the milk motivates us to keep our animals.”

Options:
The camel milk business is a ray of hope for our community, said Raika, a camel breeder from Barmer. The income
« [rom the milk motivates us to keep our animals. he added.

Raika, a camel breeder from Barmer, said that the camel milk business was a ray of hope for their community. He
» further added that the income from the milk motivated them to keep their animals.

The income from the milk motivated Raika to breed and keep camels. The milk business is the only ray of hope for the
% community.

Raika, a camel breeder from Barmer, said that the camel milk business was a ray of hope for our community. He further
w added that the income from the milk motivate us to keep our animals.

Question Number : 73 Question Id : 16794311898 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Select the INDIRECT FORM of narration of the given sentence.

“The camel milk business is a ray of hope for our community.” said Raika .a camel breeder from Barmer.” The income
from the milk motivates us to keep our animals.”

Options:
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The camel milk business is a ray of hope for our community, said Raika, a camel breeder from Barmer. The income
« from the milk motivates us to keep our animals, he added.

Raika. a camel breeder from Barmer, said that the camel milk business was a ray of hope for their community. He
» Turther added that the income from the milk motivated them to keep their animals.

The income from the milk motivated Raika to breed and keep camels. The milk business is the only ray of hope for the
% community.

Raika, a camel breeder from Barmer, said that the camel milk business was a ray of hope for our community. He further
w added that the income from the milk motivate us to keep our animals.

Question Number : 74 Question Id : 16794311899 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Choose the best option to combine the given sentences into a single sentence.

Alexey Maresyev was a Soviet pilot. He was shot down not far from Nazi troops. This happened in 1942, He feared he
would be captured by Nazi troops. He crawled in snow for 18 days

Options:
Alexey Maresyev, a Soviet pilot crawled in snow for eighteen days in 1942 to reach his own country. He was shot down
« not far from Nazi troops.

Shot down by Nazi troops, Alexey Maresyev, crawled for eighteen days. to reach his own country. He was a Soviet pilot
8 in 1942,

Alexey Maresyev was a Soviet pilot and he was shot down not far from Nazi troops in 1942. Since he feared he would
« be captured by Nazi troops. he crawled in snow for 18 days to reach his Soviet colleagues.

Fearing that he would be captured by Nazi troops. Alexey Maresyev, a Soviet pilot who was shot not far from Nazi
. troops, crawled in snow for 18 days to reach his own people.

Question Number : 74 Question Id : 16794311899 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Choose the best option to combine the given sentences into a single sentence.

Alexey Maresyev was a Soviet pilot. He was shot down not far from Nazi troops. This happened in 1942. He feared he
would be captured by Nazi troops. He crawled in snow for 18 days

Options:

Alexey Maresyev, a Soviet pilot crawled in snow for eighteen days in 1942 to reach his own country. He was shot down
« not far from Nazi troops.

Shot down by Nazi troops, Alexey Maresyev, crawled for eighteen days. to reach his own country. He was a Soviet pilot
® in 1942,

Alexey Maresyev was a Soviet pilot and he was shot down not far from Nazi troops in 1942. Since he feared he would
» be captured by Nazi troops, he crawled in snow for 18 days to reach his Soviet colleagues.
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Fearing that he would be captured by Nazi troops. Alexey Maresvev, a Soviet pilot who was shot not far from Nazi
. troops, crawled in snow for 18 days to reach his own people.

Question Number : 75 Question Id : 16794311900 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Choose the passage that is correctly punctuated.
Options:

The chronology* of the earlier part of Indian history is uncertain compared to that of china or the mediterranean world.
However this uncertainty is offen offset in the data from inscriptions that are usually precisely dated.

% (Word meaning --order of events in which things happened)

The chronology of the earlier part of Indian history is uncertain compared to that of China or the Mediterranean world.
» However, this uncertainty is often offset in the data from inscriptions that are usually precisely dated.

The Chronology Of The Earlier Part Of Indian History Is Uncertain Compared To That Of China Or The Mediterranean
s World. However This Uncertainty Is Often Offset In The Data From Inscriptions Are That Are Usually Precisely Dated.

The chronology of the earlier part of indian history is uncertain compared to that of china or the mediterranean world.
» However this uncertainty is often offset in the data from inscriptions are that are usually precisely dated

Question Number : 75 Question Id : 16794311900 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Choose the passage that is correctly punctuated.

Options:
The chronology* of the earlier part of Indian history is uncertain compared to that of china or the mediterranean world.
However this uncertainty is often offset in the data from inscriptions that are usually precisely dated.

% (Word meaning --order of events in which things happened)

The chronology of the earlier part of Indian history is uncertain compared to that of China or the Mediterranean world.
» However, this uncertainty is often offset in the data from inscriptions that are usually precisely dated.

The Chronology Of The Earlier Part Of Indian History Is Uncertain Compared To That Of China Or The Mediterranean
« World. However This Uncertainty Is Often Offset In The Data From Inscriptions Are That Are Usually Precisely Dated.

The chronology of the earlier part of indian history is uncertain compared to that of china or the mediterranean world.
« However this uncertainty is often offset in the data from inscriptions are that are usually precisely dated
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Question Numbers: (76 to 80)
Juestion Label - Comprehension

Read the passage given below and answer the questions that follow.

A full length newspaper feature, titled ‘Getting Junior To Junk Junk.’
points out how a diet of pizza, pasta and fries are what an increasing
number of Indian kids are consuming and this combined with a
sedentary lifestyle is leading to a growing child obesity crisis. At 14.4
million, India is now home to the second-highest number of obese
children in the world after China.

Doctors say the obesity crisis shouldn’t be taken lightly. In 2017, a
study revealed that 11-18% of Indian children are obese. “In the
metros, the prevalence is about 25%. The causes are dietary
(preference for fast and refined food, low fibre intake and moving
away from a balanced, home cooked diet) minimal physical activity
and sleep deprivation. Significantly, a 2016 study on the presence of
non-alcoholic fatty liver disease in over 200 children with obesity
revealed that in over 90% of cases, parents were also obese,
underlying the role of “shared lifestyle in the family.”

Nutritionists say we are raising kids in an ‘obesogenic’ environment,
with several factors making kids vulnerable to weight gain: no access
to walking or cycling tracks to go to school, buildings having more
parking space than playing areas. easy availability of junk food around
and inside school and absence of curbs on food advertising.

The article also brings out why it is important for parents to examine
their own eating habits and lifestyle. While some informed and aware
parents do realize that if they control themselves and align themselves
to healthier food. children will have a foundation for life. many do not.
Parents should ensure that children are involved i different kinds of
physical activities through the week. It’s a way to keep them both
happy and healthy.

An eminent nutritionist suggests that parents should educate their
children not just about avoiding sugar, calories or fat, but they
themselves should set an example by living more responsibly. If
parents themselves have cold drinks. but children are restricted, why
would they listen?

Sub questions

Question Number : 76 Question Id : 16794311902 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Choose the correct option.

The theme of this article is
Options:
» Longevity of Indians.

» Childhood obesity crisis in India.
« Irresponsible behavior of modern parents.

% Lifestyles in metropolitan cities versus villages.

Question Number : 77 Question Id : 16794311903 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Choose the correct combination.

Obese children are:
Overweight
Devoted to studies
Fond of fast food
House-bound
physically inactive
good musicians
sleep-deprived

R o e o

fond of games and sports
Options:
% a,b.c d e

Question Number : 78 Question Id : 16794311904 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Choose the INCORRECT option.

In all metropolitan cities in India , we have
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Options:
» safe cycling tracks for school children

% easy access to fast food
» few playgrounds for children

% Iewer opportunities to walk to school.

Question Number : 79 Question Id : 16794311905 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Choose the correct option.

The expression ‘shared lifestyle in the family’
(second paragraph. last sentence) means that parents:

Options:
« are fond of physical activities and sports.

are fond of sweet food and drinks and avoid

eating vegetables.
_‘_‘_j} — =

% avoid sitting in the house or office most of the time.

» maintain regular hours of sleep.

Question Number : 80 Question Id : 16794311906 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Choose the correct option to complete the statement

given below.
Read the title of the article again (sentence one).

If the first junk in this title means to stop using
something, what does the second junk mean?

Options:
% Old and used goods that we do not need any more

» Advertisements and publicity materials
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Some place where useful parts of old machines are
% saved and kept

Food that is easy and quick to prepare but not good
« for health.

Question Id : 16794311901 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (76 to 80)

Juestion Label | Comprehension
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Read the passage given below and answer the questions that follow.

A full length newspaper feature, titled ‘Getting Junior To Junk Junk.’
points out how a diet of pizza, pasta and fries are what an increasing
number of Indian kids are consuming and this combined with a
sedentary lifestyle is leading to a growing child obesity crisis. At 14.4
million, India is now home to the second-highest number of obese
children in the world after China.

Doctors say the obesity crisis shouldn’t be taken lightly. In 2017, a
study revealed that 11-18% of Indian children are obese. “In the
metros, the prevalence is about 25%. The causes are dietary
(preference for fast and refined food, low fibre intake and moving
away from a balanced, home cooked diet) minimal physical activity
and sleep deprivation. Significantly, a 2016 study on the presence of
non-alcoholic fatty liver disease in over 200 children with obesity
revealed that in over 90% of cases, parents were also obese,
underlying the role of “shared lifestyle in the family.”

Nutritionists say we are raising kids in an ‘obesogenic’ environment,
with several factors making kids vulnerable to weight gain: no access
to walking or cycling tracks to go to school, buildings having more
parking space than playing areas, easy availability of junk food around
and inside school and absence of curbs on food advertising.

The article also brings out why it is important for parents to examine
their own eating habits and lifestyle. While some informed and aware
parents do realize that if they control themselves and align themselves
to healthier food, children will have a foundation for life. many do not.
Parents should ensure that children are involved in different kinds of
physical activities through the week. It’s a way to keep them both
happy and healthy.

An eminent nutritionist suggests that parents should educate their
children not just about avoiding sugar, calories or fat, but they
themselves should set an example by living more responsibly. If
parents themselves have cold drinks. but children are restricted, why
would they listen?

Sub questions

Question Number : 76 Question Id : 16794311902 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct : 1 Wrong: 0.25

Choose the correct option.

The theme of this article is

Options:
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« Longevity of Indians.
» Childhood obesity crisis in India.
« Irresponsible behavior of modern parents.

» Lifestyles in metropolitan cities versus villages.

Question Number : 77 Question Id : 16794311903 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Choose the correct combination.

Obese children are:
Overweight
Devoted to studies
Fond of fast food
House-bound
physically inactive
good musicians
sleep-deprived

R o a0 o

fond of games and sports
Options:
% a,b,.c.d e

Question Number : 78 Question Id : 16794311904 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Choose the INCORRECT option.

In all metropolitan cities in India , we have
Options:
» safe cycling tracks for school children
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» easy access to fast food
» Tew playgrounds for children

» Iewer opportunities to walk to school.

Question Number : 79 Question Id : 16794311905 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Choose the correct option.

The expression ‘shared lifestyle in the family’
(second paragraph. last sentence) means that parents:

Options:
» are fond of physical activities and sports.

are fond of sweet food and drinks and avoid

v eating vegetables.

% avoid sitting in the house or office most of the time.

% maintain regular hours of sleep.

Question Number : 80 Question Id : 16794311906 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Choose the correct option to complete the statement

given below.

Read the title of the article again (sentence one).
If the first junk in this title means to stop using
something, what does the second junk mean?

Options:
% Old and used goods that we do not need any more

« Advertisements and publicity materials

Some place where useful parts of old machines are
» saved and kept
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Food that is easy and quick to prepare but not good

« for health.
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Question Number : 91 Question Id : 16794311918 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
AT # ¥ Hia-31 e o 272

Options:

Question Number : 91 Question Id : 16794311918 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
fafafeT & 3 Si=-ar o e 272

Options:

« 59T
w o=
v ST

% SEedel

Question Number : 92 Question Id : 16794311919 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Trafafea & Fia-ar oeg = @ &7
Options:

% HIOT
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Question Number : 92 Question Id : 16794311919 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0.25

f=tafea 7 Fia-ar =g =hfeer =87 22

Options:
% HACUIT

s Tare

% TLETT

o 93T

Question Number : 93 Question Id : 16794311920 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct : 1 Wrong: 0.25
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Options:

« H
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% hy

g {

Question Number : 93 Question Id : 16794311920 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct : 1 Wrong: 0.25
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Options:
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Question Number : 94 Question Id : 16794311921 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:
% HIel I

% ‘Hgﬂ'ﬁ dlad

v e g

# 39dlerd

Question Number : 94 Question Id : 16794311921 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:
% HIol I

% ‘Hgﬁ'ﬁ CIES)

o & g

# J4dlerd

Question Number : 95 Question Id : 16794311922 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Options:


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda

24

# H¥eldlzleh

% THSeEER

« RTETaE

GET IT ON
Google Play

Question Number : 95 Question Id : 16794311922 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct : 1 Wrong: 0.25
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Options:

# FEAdlh

% TSeEEs
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Question Number : 96 Question Id : 16794311923 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0.25

‘FIST F JUISTET &

Options:
% Yldeh

% 37TET

% oo

» FHA

Question Number : 96 Question Id : 16794311923 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct : 1 Wrong: 0.25
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Options:
% 9ideh
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Question Number : 97 Question Id : 16794311924 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0.25
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Options:
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Question Number : 97 Question Id : 16794311924 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct : 1 Wrong: 0.25
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Options:
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Question Number : 98 Question Id : 16794311925 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0.25
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Options:
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Question Number : 98 Question Id : 16794311925 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct : 1 Wrong: 0.25
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Options:
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+
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Question Number : 99 Question Id : 16794311926 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct : 1 Wrong: 0.25
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Options:
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Question Number : 99 Question Id : 16794311926 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct : 1 Wrong: 0.25
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Question Number : 100 Question Id : 16794311927 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:
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Question Number : 100 Question Id : 16794311927 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Options:
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Group Marks: 20

Subject Related

Section Id : 167943436

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 167943749
Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 16794311928 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
According to the law of equipartition of energy, calculate the energy of H, (3,2.1).

Options:
% 3/2 RT per mole

» 7/2 RT per mole
% 7/2 RT per molecule

% 3/2 RT per molecule

Question Number : 101 Question Id : 16794311928 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
33 % gAAASE (fFauréee) e & AR, Ho (3,2,1) &1 331 & ot Hifw)

Options:

% 3/2 e 9y A

v 712 I 9T A

« 712 3T wfa Affeage
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Question Number : 102 Question Id : 16794311929 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Hydrogen and helium at 0 °C are compressible than/as ideal gas.

Options:
# more

« less
% equally

% Cannot be determined

Question Number : 102 Question Id : 16794311929 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
0 °C W ggiad 3R s v et 9 i geen F9ET g &

Options:

% MTeF
" hH
w S{IEL

. Torenfg =& 5ar T TeEar &

Question Number : 103 Question Id : 16794311930 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Calculate Boyle temperature of O, gas, given Van der Waal constants a & b as 4 dm®atm mole™? and 8 dm*mole”
(R=0.08206 dm3atm K™*mole™),

Options:
# 5.09K

1

# 7.09K

« 0.09 K
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# B.09K

Question Number : 103 Question Id : 16794311930 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
0, 3\ F Faa FUATT FT IOEAT FI, IF 5T T (Van der Waal) T=2R1F a 3R b F AF FAT:

4 dm3atm mole™ 3R 8 dm3®mole™ (R = 0.08206 dm®atm K *mole™ ) &I

Options:

% 5.09 K
% 7.09 K
+6.09 K

x 8.09 K

Question Number : 104 Question Id : 16794311931 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Surface tension of liquid with in temperature.

Options:
w decreases, decrease

% lncreases, increase
« lncreases ., decrease

» decreases, increase

Question Number : 104 Question Id : 16794311931 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Options:
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Question Number : 105 Question Id : 16794311932 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct : 1 Wrong: 0.25

The graph between time and temperature showing phase changes is called:
Options:
» Thermograph

« Tephigraph
»% Mesomorph

% Tephigraph and Mesomorph

Question Number : 105 Question Id : 16794311932 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:

v TAETE
% THETE
%« HOATS

%é@maﬁqﬁm

Question Number : 106 Question Id : 16794311933 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0.25
Which of the following systems has 7 symmetry elements?
Options:

% Cubic
« Orthorhombic

% Triclinic
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« Tetragonal

Question Number : 106 Question Id : 16794311933 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:
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Question Number : 107 Question Id : 16794311934 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
The co-ordination number in BCC is:

Options:
% 4

# 6
8

® 12

Question Number : 107 Question Id : 16794311934 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
T (BCC) H F§H-aT FE&AT F4T gdr 27

Options:

% 4

% 6

8
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Question Number : 108 Question Id : 16794311935 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
The fluorite structure is adopted by which of following?

Options:
x Ti0;

o Can
# ZnS

% NaCl

Question Number : 108 Question Id : 16794311935 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
AT § ¥ Es @R FeRiEe §9T HUAE A T 27

Options:

. TiO,

» CaF;
% ZnS

% NaCl

Question Number : 109 Question Id : 16794311936 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Meissner effect is shown by:

Options:
% Diamagnetic substances
» Ferromagnetic substances

% Anti-ferromagnetic substances

» Superconductors
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Question Number : 109 Question Id : 16794311936 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:
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Question Number : 110 Question Id : 16794311937 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which of the following is not paramagnetic?

Options:
% 0z

v F2
% B

« Both O; and F,

Question Number : 110 Question Id : 16794311937 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
frfofaa & ¥ #ia segged (Raw=fes) 7@ &

Options:
® 02

v F2

QBE
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Question Number : 111 Question 1d : 16794311938 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
According to MOT, the bond order of 03~ is:

Options:
1

® 2

Question Number : 111 Question Id : 16794311938 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
TAHE (MOT) & HFAR, 03 &1 HEY HIfe (I8 IH7N) Fr g7
Options:

1
1=
] 2

[

Question Number : 112 Question Id : 16794311939 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The structure of CIF; is:

Options:
% Irigonal planar

% Sea-saw

» I-shaped
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% Pyramidal

Question Number : 112 Question 1d : 16794311939 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

CIF; &Fr g==T FHor gdr g2

Options:

o
., TSI Colel

« Tt
. -9z

» TfEse

Question Number : 113 Question Id : 16794311940 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Hybridization of XeF, is represented by:
Options:

% SpP2

% 9Pz
% Spad

g?Spadz

Question Number : 113 Question 1d : 16794311940 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

XeF, &1 gEfassaa g 91 geiar I g2
Options:
% Sp;
% Sps

% Spad
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v Sp3d;

Question Number : 114 Question Id : 16794311941 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Which of the following bonds is the strongest?

Options:
# Ionic
% Hydrogen

« Covalent

% Van der waal

Question Number : 114 Question Id : 16794311941 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
frafef@a & @ ®i9 T ey T8 H9d 8T 87

Options:

% HTOT=®
» ETEEISIA
» TEETET

% did 81 dIdd

Question Number : 115 Question Id : 16794311942 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Molar conductance, specific conductance with in dilution.

Options:
w Increases, increases

» increases, decreases
« decreases, increases

« decreases, decreases
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Question Number : 115 Question Id : 16794311942 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
TIROT F X F WY FAeR e ¥ @y fafirse e gl

Options:

» Toa, "

Question Number : 116 Question Id : 16794311943 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Slope = Zero when AE/AV = in potentiometric titrations.
Options:

« maximum

% minimum

# Zero

% nfinity

Question Number : 116 Question Id : 16794311943 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

RRAARF =t #F I AE/AV = AT & O T (29T) 4T B g
Options:

JH@W

CEGGE]

= ™

AT
L

%

+

# HdAd
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Question Number : 117 Question 1d : 16794311944 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Ton association in electrolyte solution is given by:

Options:
% vant’hoff theory

% Debye — huckel theory
» Bjerrum theory

% Electrolyte theory

Question Number : 117 Question 1d : 16794311944 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
faega-srvuey Reas & 3maw vafaves e ganr sged fFar amar 22

Options:

x 37 g% =

v A f&Eg

« Sogromse flaa

Question Number : 118 Question Id : 16794311945 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Degree of dissociation o for weak electrolyte is when mole conductance and molar conductance at infinity are

given as 4 Sm? mole™ and 8 Sm? mole™!.

Options:
# 0
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Question Number : 118 Question 1d : 16794311945 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

goreh (g Teega-avuey & fow Rae= & B4 o 2l § 59 #ie Sretehed 3R AR

Tl ¥9d 97 4 Sm? mole ! 3T 8 Sm? mole™* T &I
Options:

% 0

Question Number : 119 Question 1d : 16794311946 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Calculate the mean ionic activity of 0.01 molal NaCL

Options:
« 0.889
# 0.779

# 0.6069

b

=
N
L
o

Question Number : 119 Question Id : 16794311946 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

0.01 Arear NaCl #r 3itmg y3mafas g & suEr #:1
Options:

« 0.889

% 0.779

% 0.669

% 0.559

Question Number : 120 Question Id : 16794311947 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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The half life of third-order reaction related to the initial concentration of a reactant (a )is:
Options:
Directly proportional to * a®°

®

» Inversely proportional to * a®

1
Inversely proportional to * az’

8

1
Directly proportional to * az"

4

Question Number : 120 Question 1d : 16794311947 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
el #f@ene (a) #r TREF Fear ¥ Fefog dmy F7 $ afEafear o a3mg S @ 22

Options:

‘a®’ & AT

®

‘a’’ F geHATAIET
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Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number : 1
Sub-Section 1d: 167943750
Question Shuffling Allowed : Yes

Question Number : 121 Question Id : 16794311948 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The rate of reaction becomes two-fold or three-fold for every rise of temperature.

Options:
% 1%

o 18] PL2
# 100 °C

% 5%

Question Number : 121 Question Id : 16794311948 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
ATTH &Y gf & fow Hf&RRIT & & & & a1 A AT 8 S g

Options:

%1 °C
« 10 °C
x 100 °C

a B2

Question Number : 122 Question Id : 16794311949 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which of the following equations represents the mathematical treatment of the classical collision theory?

Options:
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» =P Z exp(-E/RT)
% k=P Z% exp(-E/RT)
g k= P Z exp(-1/RT)

% k=P Z exp(-E/R)

Question Number : 122 Question Id : 16794311949 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Frafaf@a § ¥ =9 O gdeor aufis guz @EE (Ffasd fifeea oaal) F afvd g &
Zarrdr 22

Options:

» k=P Z exp(-E/RT)
« k=P 72 exp(-E/RT)
« k= P Z exp(-1/RT)

« k=P Z exp(-E/R)

Question Number : 123 Question Id : 16794311950 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
According to Lindemann-Hinshelwood mechanism of unimolecular reactions, the rate law for the formation of product is:

Options:
v ki k3 [ATP/ (k3 +ka [A])

% k1 k3 [A) (k3 ka [A])
« k1 k3 [A]7/ (14 [A])

« k1 k3 [AT/ (k3 +kp [A]%)

Question Number : 123 Question 1d : 16794311950 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
THAUIEF (TR oegen) ARt & RRAa-Fivgs # s ¥ 3qar, 3ag (vE9e) & B &
T a7 Fas #7ar &7
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Options:

v k1 kS [A]1 / (1‘13 _k: [‘ji])
#® 1’11 kS [A]-f (ka _k: [‘!1])
® k1 1{3 [iai]1 / (1_}1: [‘!1])

« ki ks [AP / (ks +k; [A]?)

Question Number : 124 Question Id : 16794311951 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The conversion of B-glucose to a-glucose in an aqueous solution is an example of:

Options:
% Parallel reaction

+ Reversible reaction
% Consecutive reaction

% Simple reaction

Question Number : 124 Question Id : 16794311951 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Teh el [Soidel H B-Tefshlst T o-Felehlisl H FAIAIUT fehHeAT Tk 3ETEU! g2

Options:

% FATAGY FAar

ﬁmvﬂzraﬁm
. 3T (RTaw) fafFar

% T ATATHar

Question Number : 125 Question 1d : 16794311952 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
A plot of Ink against 1/T gives a straight line, whose slope will be given by:

Options:
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. —E./2.303R
« —Ea/RT
« —E4/2.303RT

» —E./R

Question Number : 125 Question Id : 16794311952 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

1T % TAESF Ink F 5 (plot) T el @ 21 §1 7 Tl @ &1 T (1) F7 Fem?

Options:
. —E4/2.303R

. —E4/2.303RT

Question Number : 126 Question Id : 16794311953 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Flow methods .first developed by Roughton and Hastridge (1923). allow to measure reaction half time in the range
between:

Options:
% 10 secand 1072 sec

% 107t secand 107* sec
« 10 secand 1072 sec

% 10 secand 107! sec

Question Number : 126 Question Id : 16794311953 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

qgeT 97 Thea 3T e (1923) gawr RwfaT vag (veh) Y, e @ F 3B F e wnw
F AT H FAT T E?

Options:
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% 10 sec 3T 1072 sec
% 1071 sec 31T 107 sec
» 10 sec 38T 1073 sec

% 10 sec 3T 101 sec

Question Number : 127 Question Id : 16794311954 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
A first order reaction is 15% complete in 20 minutes. How long will it take to be 60% complete?

Options:
« 61.2 sec

# 112.7 sec
#® 78.3 sec

# 154.6 sec

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all candidates.

Question Number : 127 Question Id : 16794311954 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

TF Tg =T () H #/FHar 20 Bwe # 15% qOT @A B 60% TOT A H IF e wAT wele

Options:
« 61.2 sec

% 112.7 sec
% 78.3 sec

% 154.6 sec

Note: For thisquestion, discrepancy isfound in question/answer. So,this question isignored for all candidates.

Question Number : 128 Question Id : 16794311955 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Osmotic pressure of solution is 0.3284 atm at a temperature of 300 K. The concentration in mole/litre will be:

Options:
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# 0.033
# 0.0606
 0.0133

# 0.133

Question Number : 128 Question Id : 16794311955 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
300 K a9aTe R U f3erder &7 RIER0T a5 0.3284 IrgASHT &9 (atm) &1 WEaT moleflitre #

gren?

Options:

% 0.033
% 0.066
« 0.0133

% 0.133

Question Number : 129 Question Id : 16794311956 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
6 g of urea is dissolved in 90 g of boiling water. The vapour pressure of the solution is:

Options:
% 760.3 mm

# 701.0 mm
# 758.2 mm

« 744.8 mm

Question Number : 129 Question Id : 16794311956 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
IRAT % 6 g & 90 g 3T IAr H i 1T g Ferae & a7 gae #4497 gem?

Options:

% 760.3 mm
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% 761.0 mm
% 798.2 mm

v 744.8 mm

Question Number : 130 Question Id : 16794311957 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

If NaCl ionizes to an extent of 100% in aqueous solution, the value of van’t Hoff factor is:
Options:

% 1

Question Number : 130 Question Id : 16794311957 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

IfE NaCl s 3o & 100% T 3mafag & Sar &, aF 39 2% S &1 AT 347 29m?
Options:

% 1

o 2
% 3

% 0

Question Number : 131 Question Id : 16794311958 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The SI unit of molality is:

Options:
% mole.lit™?!

« g.equivalent. Kg—!
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» mole. Kg™*

% mole.ml™

Question Number : 131 Question Id : 16794311958 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

HArenfadr $r Tads (SI) s F4T 2
Options:

» mole. lit™*

« g.equivalent. Kg~?

» mole.Kg™*

% mole.ml™?

Question Number : 132 Question Id : 16794311959 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The solution containing 3.4 g of non-ionic solute in 100 g of water was found to be frozen at -0.47 °C

( K¢ of water is 1.86 K. kg. mole™ ). The molar mass of the solute is:

Options:
# 13.5

Question Number : 132 Question Id : 16794311959 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

100 g 9=ir H 3.4 g AlA-3a= FoT arer e #r - 0.47 °C TR AT HT 9T T
(AT Fr Ke 1.86 K. kg. mole™ &) o &1 AR S=ad@ 21 272

Options:

% 13.5
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% 33

« 134.5

Question Number : 133 Question Id : 16794311960 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Which of the following pairs of solutions shows large positive deviations from ideal behavior?

Options:
% Cyclohexane-carbon tetrachloride

» Water-propyl alcohol
% Water-nitric acid

% Acetone-chloroform

Question Number : 133 Question Id : 16794311960 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

fooe & Aeafaf@d 78 & i & 316y FEeR ¥ 37 UalcHs oo GErdr 87
Options:

« TTSTFeFl - FE SCIFANES
» TET - SITe Heargal
x JeT - AEfes tfas

% THET - FARGHH

Question Number : 134 Question 1d : 16794311961 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

The partial pressure of bromine over a bromine-carbon tetrachloride solution, containing mole fraction of bromine equal
to 0.05, is 5.12 Torr. If the vapour pressure of pure bromine at the same temperature is 217 Torr, the activity coefficient
of bromine in the given solution is:

Options:
# 0.47
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Question Number : 134 Question Id : 16794311961 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

TF SEA-cereREs fuua § §de & 319 29 5.12 @ (Torr) &, 5@s Sl 0.05 A1 (mole)
3R & TR ¢ I 36 A9AT W YL FAT & a9 g@ig 217 R (Torr) g, aF & a0 Rema &
S & AIfatater o w4 gem?

Options:

% 0.47
v 0.94
« 1.93

% 0.768

Question Number : 135 Question Id : 16794311962 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

100 mL of 1 M HCI, 200 mL of 2 M HCI and 300 mI. of 3 M HCI is mixed. The molarity of the resulting solution is:
Options:

# 1M

Question Number : 135 Question Id : 16794311962 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
1 M HCI & 100 mL, 2 M HCI r 200 mL 3iit 3 M HCI &7 300 mL f&f3a o smar g HTed gt
erge $r At F7ar 872

Options:

# 1 M
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% 2.66 M
« 233 M

% 425 M

Question Number : 136 Question Id : 16794311963 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
What is/are the total number of degrees of freedom for ‘A eutectic mixture in a binary system™?

Options:
% 0

® 1

Question Number : 136 Question Id : 16794311963 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
T TR AR # = s B & R m=asar & w2 & g Faw geie

Options:

% 0

% 1

& 2

® 3

Question Number : 137 Question Id : 16794311964 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which of the following is an extensive property?

Options:
# Pressure

w lemperature
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« Volume

% Density

Question Number : 137 Question Id : 16794311964 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
fFrfaf@a & & #ia &1 & e o7 87

Options:

% adld
% dI9HTd
v 3Taad

% Eddcd

Question Number : 138 Question Id : 16794311965 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The equilibrium constant of a reaction doubles on raising temperature from 25 °C to 35 °C, then AH® for the reaction

(k] mol™1) is:
Options:

® 37.2
 52.8

® 76.3

Question Number : 138 Question Id : 16794311965 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

T HRfRAT F FFaEe R avAT # 25 °C ® 35 °C 53« 9T T @1 AT ¢, a8 Afaiwar
&% for AH® (k] mol™) #r ghefr?

Options:

% 37.2

« 528
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% /6.3

% 98.2

Question Number : 139 Question Id : 16794311966 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

For a given reaction N, + 3Hy(g = 2NHy,, AH = —92.38K] ., the favourable condition for formation of
Ammonia is:

Options:

% High temperature, low pressure

% Low temperature, low pressure
% High temperature, high pressure

» Low temperature, high pressure

Question Number : 139 Question Id : 16794311966 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

T & 7 FAB F BT N,y + 3H,p = 2NHs (), AH = —92.38K], 3 & BT ¥ R
Options:

« 3= d9AE, e g e

y e auAEE, Be g e

« 3= dI9HA, 3= g9

» oo aAA, 3= g g

Question Number : 140 Question Id : 16794311967 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Which of the following relations represents Ostwald dilution law?

Options:

__ Ca?
4 K= (1-a)



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addal247

_ Ca
w..K "~ (1-a2)
-

# K= (1-a)
® - (1—aC)

GET IT ON
Google Play

Question Number : 140 Question Id : 16794311967 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

farafof@a # @ #ia @1 gau (@A) dTeares agaor f@aA #T gear 22

Options:
Ca?
v L
Cox
% = (1—a?)
iz
X =
% (1—a)
2
% (1-aC)
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Revisit allowed for view? :
Revisit allowed for edit? :
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Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 167943751
Question Shuffling Allowed : Yes

Question Number : 141 Question Id : 16794311968 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
298 K 9T PbSO, & ferarar aumess 2.5 x 1077 §1 PbSO, #r faermar mol litre”! 7 =21 gf?

Options:

% 0.5 x10°°
¢5.0x%x10°°
% 5.0 x 1073

x 05 %1073

Question Number : 141 Question Id : 16794311968 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The solubility product of PbSO, is 2.5 X 1072 at 298 K. The solubility of PbSO, in mol litre! is:

Options:

% 0.5x107®
« 5.0x107°
% 5.0x1073

% 0.5x1073

Question Number : 142 Question Id : 16794311969 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The PP of 0.0IM solution of NH,Cl in water at 25°C is: (Given that K, for ammonium hydroxide

=1.81x10"° & Kyw=1.008 x 107%)

Options:
® 12.26
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Question Number : 142 Question Id : 16794311969 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
25 °C 9T 9r&T # NH,Cl &F 0.01M faorae &1 PH & 22 (Ram 7 § sAfaas assiewss & v
K, =181x10"° 3R Ky =1.008 X 107*)

Options:
% 12.26

« 3.63
% 10.24

% 4.32

Question Number : 143 Question Id : 16794311970 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The hvdrolysis constant for the salts of weak base and weak acid is:
Options:
_Kw
« (Ka.Kp)

5 KW (KaKh)

Kw
% Ka

Kw

# Kp

Question Number : 143 Question Id : 16794311970 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

I &R 3R I 35 & Fau & AT FAF-3Tue FT T FAT grem?

Options:
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« (K3.Kp)

#® KW (KaKb)

Ew
# Ka

Kw
% Kp

Question Number : 144 Question Id : 16794311971 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
The P® of a solution, obtained by mixing 5 g of acetic acid and 7.5 g of sodium acetate, and making the volume equal

o= o

to 500 ml, is (given that dissociation constant of acetic acid at 25 °Cis 1.8 X 107> ):

Options:
# 3.45

o 4.78

Question Number : 144 Question Id : 16794311971 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

5 g vfafes e 3T 7.5 g Wfzan vdee = AT 500 ml HOd & &Y 9410 90 Faaa $r
PH 7 e (femm arar § 25 °C 9t ofRfees siFar & e Rt 1.8 X 107° #))

Options:
% 3.45
v 4.78
% 5.89

% 6.98

Question Number : 145 Question Id : 16794311972 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Which of the following expressions represents the criterion for a reaction to be labelled spontaneous?

Options:
s ([@dS)yy >0

% (AU)gy =0
% (dG)rp >0

% (dH)sp >0

Question Number : 145 Question Id : 16794311972 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

fafaf@g & @ #iF7 o1 oo Fdr 33T 5 =ofeg 29 F fw #Aves #& 1 g 22
Options:
v (dS)yy =0

s (dU)sy >0
s (dG)rp >0

w (dH)sp > 0

Question Number : 146 Question Id : 16794311973 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which of the following empirical equations represents Freundlich adsorption isotherm?
Options:

X

1
Vi e
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Question Number : 146 Question 1d : 16794311973 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
i@ & @ #ia @ Fergudr gt wsfem tsEreda AEEyd F g 82
Options:

x e

s

1
« X.Mm = kpn

1
® x p
1
x _kn
B m =

Question Number : 147 Question Id : 16794311974 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

A transition, for which first derivative of the chemical potential with respect to temperature at constant pressure is
discontinuous, is classified as:

Options:
» First order phase transition

% Second order phase transition
% Zero order phase transition

% Lambda transition

Question Number : 147 Question Id : 16794311974 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
FE aEas, Tae v fBer gee 9w aA= #mﬁmmqummﬁaﬁ,
= FE gwR F=iFa frar smar 82

Options:

o FEC AT F Feie=

x U ST & Tr=red
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» ST TS & ==
., oFEsT e

Question Number : 148 Question Id : 16794311975 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

; : w ; : :
The increase in entropy on mixing Neon and Xenon, the mole fractions of which are, - and

. respectively, is:
2

(in cal degree ! mol™1)

Options:
% 5.76

# 1.24
# 4.36

« 3.64

Question Number : 148 Question Id : 16794311975 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
fsifer i Siiter, forere Ao sfer Faer - AR T @ B W W o & R gfe @ 3
(cal degree ™ mol™* #)

Options:

% 5.76
% 1.24
% 4.36

v 3.64

Question Number : 149 Question Id : 16794311976 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The temperature coefficient of EMF of the cell is:

Options:
% (3E/aP)T

« (2T/2P)e
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 (BE/aT)p

« (3T/2E)p

Question Number : 149 Question Id : 16794311976 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
e & S.UA.UG. HT JTIAT 0N F4T 872

Options:

5« (2E/aP)t
o (eT/eP)e
v (2E/aT)p

% (2T/2E)p

Question Number : 150 Question Id : 16794311977 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Cy for Uranium metal is 6.08 JK™* mol™* at 20 K. The absolute entropy of the metal in JK™ mol™ at 20 K is:

Options:
# 1.01

Question Number : 150 Question 1d : 16794311977 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
qferas arg # Cy 20K W 6.08 JK " mol™ gl 20K 9T urg i 937 werdr JK™' mol ™ # =1 87

Options:

% 1.01

v 2.02
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% 3.03

% 4.04

Question Number : 151 Question Id : 16794311978 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
The change in internal energy and change in enthapy, respectively, for the reversible isothermal expansion of one mole

of an ideal gas at 27 °C. from a volume of 20 dm? to a volume 0f 30 dm?, are:

Options:
% 07,207

w 103,207
v 03,07

i 20107

Question Number : 151 Question Id ;: 16794311978 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
27 °C 9Y U&F HEY AT & T AT &1, 20 dm?® 37aa ¥ 30 dm? g & O, &8 scaaAuia
AT gaR (Egee HEaHT THEUeE) F AGiE ST § Tidas A v § 9igds

grem?
Options:

x O 4120 J
% 10 J, 20 J
v0J, 0J
x 20J,0J

Question Number : 152 Question 1d : 16794311979 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
According to Langmuir adsorption isotherm, a plot of ‘(p/v)’ versus ‘p’ will give a straight line with slope equal to:

Options:

@ 1EI"Jrrm::lnt:n
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« Vmono

Question Number : 152 Question 1d : 16794311979 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
FTH VSHYT HSHAR & AR, (piv) AR ‘p’ T Wl @ F A a7 § e w (@ee)
T=ofeg # ¥ Bas suar geme?

Options:

4 1["';Irrm::anr:n

% KVmono

« Ymono

Question Number : 153 Question Id : 16794311980 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Cheese is an example of:

Options:
« Solid in liquid
» Gas in solid

» Liquid in solid

« Solid in solid

Question Number : 153 Question Id : 16794311980 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Correct: 1 Wrong: 0.25
=T (Cheese) fFaaT T 3egruT 87

Options:

« S H 3g &

, 38 F 3 #

o O H 3T FT

waﬁvﬁaﬁ'@rm

Question Number : 154 Question Id : 16794311981 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which of the following types of catalysis can be explained by the adsorption theory?

Options:
» Homogeneous catalysis

» Heterogeneous catalysis
% Enzyme catalysis

% Autocatalysis

Question Number : 154 Question Id : 16794311981 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Ffernwor e & @R FAoad # ¥ 59 YR & 3907 & AT 37 ThdT 87

Options:

% THATGT ISAI0T

ymm

» TSATSH 3cHO

% TI3cATOT

Question Number : 155 Question 1d : 16794311982 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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How many times Al*® jon is more effective than Na™ ion in flocculating a negatively charged sol?

Options:
% Two times

% SiX times
« Nine times

% Three times

Question Number : 155 Question Id : 16794311982 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Na® & gerer # Al*? & Hoers 3afRa Sia &1 #798iT (Foreaaien) & J Gad a1 semaemenr 82
Options:
v & T

o T T
Ja‘ra;m

ﬁ?-ﬂ?l"ﬂFIT

Question Number : 156 Question Id : 16794311983 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
The coagulating power of an electrolyte for As, S, decreases in the order:

Options:
s Na* = AI'® »RBa*?
x PO =500 =41

w POZH 280 561

» A" > Mg*? > Na*

Question Number : 156 Question Id : 16794311983 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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T fAega-3rEeT # As,S; & o w=hiea w #1 afFa frw w7 # vedr 87
Options:
% Nat = A" > Ba™

« PO 550 5 C
& PO =505 50

o Bl Mo ¥ Na*

Question Number : 157 Question Id ;: 16794311984 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which of the following are favourable conditions for physical adsorption?

Options:
» Low temperature, high pressure

% High temperature, high pressure
» High temperature, low pressure

% Low temperature, low pressure

Question Number : 157 Question Id : 16794311984 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

s sifRivT & fr Peaffee § ¥ FiT o R smE §2
Options:

v @& a9AE, 359 g8

« 3= d9A, 3= o

w 3= aaAe, @ gae

y &= auAe, @ I

Question Number : 158 Question Id : 16794311985 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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At critical micelle concentration (CMC), the surfactant molecules:

Options:
w Decompose

% Become completely soluble

« Associate

% Dissoclate

Question Number : 158 Question 1d : 16794311985 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
frfewre B8 FEgua (FTAH) W, TouHIaRs (Fhaie) HUHT &1 47 g g2

Options:

x HIOReT & I 9 &

, TOT TRl & A §
» TEArET g J g

Question Number : 159 Question Id : 16794311986 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
According to Bronsted-Lowry concept, an acid is a substance that has a tendency to:

Options:
% Donate an electron

» Donate a proton
% Accept an electron

« Accept a proton

Question Number : 159 Question Id : 16794311986 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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SIECS-AIT FAUROT % AR, T IFA T VAT o g § o wgfed g §
Options:

o Tolgeld ot I
v ST g Fr
. SIS ol T

% SIETeT ol &l

Question Number : 160 Question Id : 16794311987 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
What is the result for the following calculation with appropriate number of significant figures?

72.46
0.000523x3.249x103
Options:

« 42.6

% 42.64
% 42.643

# 42.6429

Question Number : 160 Question 1d : 16794311987 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
mmmﬂmmﬁmﬁmﬁﬁamwmwm

72.46
0.000523x3.249x103

Options:

v 42.6

x 42.64

% 42.643

x 42.6429
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Subject Related

Group Number : 9

Group Id: 167943380
Group Maximum Duration : 0

Group Minimum Duration : 0

Revisit allowed for view? : No

Revisit allowed for edit?: No

Break time: 0

Group Marks: 20

Subject Related

Section Id : 167943439

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number : 1
Sub-Section Id: 167943752
Question Shuffling Allowed : Yes

Question Number : 161 Question Id : 16794311988 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The SI unit for temperature is:

Options:
» kelvin (K)

% kelvin/sec
% degree centigrade (°C)

% candela

Question Number : 161 Question Id : 16794311988 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

AT Y TE.ATE. (SI) S F4T 22

Options:
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x &3 @ (°C)

. FASeT (candela)

Question Number : 162 Question Id : 16794311989 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The total number of ions present in 58.44 g of NaCl is:

Options:
% 6.023 x 103

« 1.205 x 10%*
% 6.023 x 10*

x 1.205 x 10%

Question Number : 162 Question Id : 16794311989 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
58.44 g NaCl # 39fPya gat & Fo Tear fraar 82

Options:

x 6.023 x 102
« 1.205 x 10%
x 6.023 x 10*

% 1.205 x 10

Question Number : 163 Question 1d : 16794311990 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
The percentage composition of nitrogen in urea is:

Options:
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Question Number : 163 Question Id : 16794311990 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
IRAT H AREIAA F Fad Al &7 87

Options:

% 6.67 %

« 46.67 %
% 20 %

% 26.67 %

Question Number : 164 Question 1d : 16794311991 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
The ratio of the masses of oxygen that are combined with one gram of nitrogen in the compounds N, O, and NO is 3 : 2.
This statement is correct as per which law?

Options:
% Law of conservation of mass

% Law of definite proportions
» Law of multiple proportions

« Gay Lussac’s law of gaseous volumes

Question Number : 164 Question Id : 16794311991 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Tiffrt N, 05 3 NO & & IH ASgsa & WY HIad At & Seddl &1 Fqad 3 : 2 § T8
U FH OH & 3ER T 82

Options:
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% SOATA & HIEIUT FT HaA
., [T o = A
ya'g'aq?_gm?-rmﬁ'un

, T A F A-THE F A

Question Number : 165 Question Id : 16794311992 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
What is the limiting reactant, and what amount of Ni{OH}, is formed when 25.9 g of NiCl, reacts with 10 g of NaOH?

Options:

% NiICl, and 11.6 g of Ni(OH),
% NICl, and 5.8 g of Ni(OH),
% INaOH and 5.8 g of Ni(OH),

» NaOH and 11.6 g of Ni(OH),

Question Number : 165 Question Id : 16794311992 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

T 25.9 g NiCl, 10 g NaOH & @y HfEfRar #tar ¢ of Sifad #f@eRes &ia g, 3R Ni(0OH), #r
forast AT ST &2

Options:

« NiCl, 3R 11.6 g of Ni(OH),
« NiCl, 3T 5.8 g of Ni(OH),
« NaOH 3R 5.8 g of Ni(OH),

» NaOH 3R 11.6 g of Ni(OH),

Question Number : 166 Question Id : 16794311993 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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An organic compound contains 38.7 % C and 9.7 % H by mass. Its molar mass is 62.1 g/mol. What is its molecular
formula?

Options:

» C:H 0,

« CH,0
W CEHJ.E 06

% CaHs0;

Question Number : 166 Question Id : 16794311993 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

U T AEE A FeAT F HJAR 38.7 % e (C) 3R 9.7 % gssi=i= (H) § S8 AR
FETA 62.1 g/mol g1 $HFT 10 §F 4T 87

Options:

o’ CE HEGE

. CH;0
] CEHIE GE

® CB H-’-LGE

Question Number : 167 Question Id : 16794311994 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
The equivalent weights of AlCl; and BiOCL, respectively, in a precipitation titration with AgNO,, are (M = molecular weight):

Options:
% M and M/3
# M/3 and M/3

« M/3 and M

# Mand M

Question Number : 167 Question Id : 16794311994 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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AgNO; ¥ &rer AlCl; 3R BiOC] #r 3/8iq0T ersgers H FAr: Jode ) 41 82 (M = H0Tas  I939):
Options:

« M 3T M/3
% M/3 3T M/3
v M/3 3T M

« M 3T M

Question Number : 168 Question Id ;: 16794311995 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The wavelength of photons having energy 3 eV is:

Options:
% 6625 A
« 4140 A

% 3312 A

% 3000 A

Question Number : 168 Question Id : 16794311995 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

3 eV 33T e BielT H TECE F4T T 87
Zpt:;;s A
v 4140 A
x 3312 A

% 3000 A

Question Number : 169 Question Id : 16794311996 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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What is the frequency of the radiation corresponding to the spectral line of lowest energy in Lyman series in the
H- atomic spectrum?

Options:

«247%x103 g1
% 122%x1077s1
x 1.64x10 1851

% 3.28x10%¢s?

Question Number : 169 Question Id : 16794311996 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
H-ITAT] T9aeH H STsHa IS (@) H TIH &H Fal $ qUHAT @ # Jafog @feor &
Hgfea #m 27

Options:

v 247 x 1015571
% 1.22 %1071
% 1.64x 1071851

x 3.28 x 10%¢ g1

Question Number : 170 Question Id : 16794311997 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
The momentum of a particle with de-Broglie wavelength of 5 A is:

Options:
% 1.33xX10%*ms™?

x 133 wig2tg+

» 133X 10" 2*kgms™*

» 1.33%X 10 2%kgm™s

Question Number : 170 Question Id : 16794311997 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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5 A & A-Feir (de-Broglie) TIETEe ITor FHUT T HAT T &I g7

Options:
% 1.33 X 107%**ms™?

x 133 %1052
133X 10 kpms~"

& 133 % 10 koam s

Question Number : 171 Question 1d : 16794311998 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

. . sy a . . . . . . i | . .
The uncertainty in the position of an object. moving at a certain speed and weighing 10 g, is 10~ © m. The uncertainty in
its velocity is:

Options:
% 263%X103%ms1?

% 5.27x107®ms?!
% 2.63X107®ms?

527X 10 3 mst

Question Number : 171 Question Id : 16794311998 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

10 g R 3R v fafRewa =re @ oifa & avg & Fufa & sfafRegar 1072 m @) swdr a1 A
HRfRTEaT F2T 2t

Options:

% 263 xX10 3 ms™?
x 527 %107 Pme?
% 263 X107 %®°ms™?

PE2T w4 me?

Question Number : 172 Question 1d : 16794311999 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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The correct set of quantum numbers that describe the differentiating electrons of Si is:

Options:

=3,1=1, m;=0and m_=+=
ifn ; ; Ty and m, >

 §
n=3,1={},m1=+13ndm5=+§

"
=31=1 =0and m, =-=
$_éll ¥ » 14 and Im, 7
=31=2 my=0andm, ==
$€MIl " , My and m, 2

Question Number : 172 Question Id : 16794311999 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

B ' ¥ o . * »
Si & 3TeTT-3cI9T SAFIAT T JUIA Fled STel FaIEH TEATIHT FT Tal TS F4T 82
Options:

n=3l1l=1m =0andm; = +—
v 2

4
n=31=1m=0and m, =—=
®
n=31=2m=0and m, =——
® 2

Question Number : 173 Question Id : 16794312000 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The Schrodinger’s wave equation is:

Options:

9%y %y 9% , smm . B
5 Bx2 £ ay? T Ty e =0
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Question Number : 173 Question Id : 16794312000 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Options:
gy a% 81tm

5 Ox2 dy? ﬂz2 (E V)Lb =¥
a2y acy 82 1|; 8mm y

v ax? dy? dz= (E V)LLI g
a2y 8%y aztl.l am’m

g Ox2 dy? BZE (E V]lb 0
a2y 8%y 62¢ g8ttm? N

g Ox2 dy? ﬂzz (E V]LLI 0

Question Number : 174 Question Id : 16794312001 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which of the following statements is correct?

Options:

% The number of angular nodes isequalton—[—1

% The number of radial nodes is equal ton — 1

» Total number of nodes equal to n — |

% The number of radial nodes is equal to {

Question Number : 174 Question Id : 16794312001 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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frfof@a Fuar & ¥ =iF @1 T g7

Options:

Rﬁﬂﬂ??—ﬂ%#@n—f—l F FUET 2T g
S IBTT A N EETT -1 F e AT &
A= F FT FEAT 01— 1 F TR FA B

JIRTT Asg HraEw | F WS A &

Question Number : 175 Question Id : 16794312002 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
The Aufbau principle implies that a new electron will enter an orbital for which:

Options:
% © has lower value

% [ has lower value

» The value of (n~) is minimum

% The value of (n+/) is maximum

Question Number : 175 Question Id : 16794312002 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

FHRaTF THETT F7 ac9d & S Us F97 Soiacid 30 FET H 999 F97 forgs 0w Afaaag § § #4r
e g7

Options:
« N T AT FH ar

« [ T AT FH &

(n+]) &1 AF =ga4dT &
v g

o (n+0) =1 AT AAFaH BT

Question Number : 176 Question Id : 16794312003 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Correct : 1 Wrong: 0.25
Eka-aluminium and Eka-silicon, respectively, are references to:

Options:
% Aluminium and Silicon

« Gallium and Germanium
% Germanium and Gallium

% Silicon and Aluminium

Question Number : 176 Question Id : 16794312003 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
ST AAIH AR Fe-fafoema waen e wefia §2
Options:

., TefAATA AT Ao
v A st SR
« SFHATE T Afemm

, RfwE i weffes

Question Number : 177 Question Id : 16794312004 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

What is the [UPAC name of the element with atomic number 1117
Options:

% Unnilennium

% Ununnilivm
+« Unununium

% Ununbium

Question Number : 177 Question Id : 16794312004 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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13 WWWHHIUPACMWE‘?
Options:

% 3ATAATH

Question Number : 178 Question Id : 16794312005 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct : 1 Wrong: 0.25

The element, from the given options, with the highest ionic radius is:
Options:
% Li*

@ EE+
® F~

v 0%

Question Number : 178 Question Id : 16794312005 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

fow 7iv wear # @ g g & 3mEs B g9 3o 2
Options:
% Lit
w:BE+

% F~

v 0?"

Question Number : 179 Question Id : 16794312006 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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The ionization energy of Li in its ground state is 519 kJ/mol. Then its effective nuclear charge is:
Options:
« 1.26

# 1.87

# 0.63

#

b
LN
[

Question Number : 179 Question 1d : 16794312006 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Li &r fesas 39w (7158 V) # 3Ta0T Fir 519 kJ/mol g1 @ SHeT TTET IIATY] Her &7
g2

Options:

« 1.26
% 1.87
% 0.63

x 252

Question Number : 180 Question Id : 16794312007 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The correct order of first electron affinity values of Al, Siand P is:

Options:
% P>Si> Al

« SI>P> Al
% Al>P>Si

% Si1=Al>P

Question Number : 180 Question 1d : 16794312007 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Al, Si 3T P Fr A soiaeid BAFAT AF (FEE Solddial Ulthiee! AlA) T Hal &H FT 87
Options:
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« P > 5i > Al

v 3i > P > Al

# Al > P > 5i

#Si>A>P
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Question Number : 181 Question Id : 16794312008 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Based on the electronegativity difference between the bonded atoms in molecules, the correct order of ionic character is:

Options:

. LiCl> Cl, > HCl

« Cl, > LiCl > HCl
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« HCl> Cl, > LiCl

» LiCl > HCl > Cl,

Question Number : 181 Question Id : 16794312008 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

HOLHT A EflT ARt & & Regamuncresar JoT & HUR W, HIiAF F&I0T F HEN HH FAT 872
Options:

% LiCl > Cl, > HCl
% Cl, > LiCl > HCl
% HCl = Cl; > LiCl

» LiCl = HCl > Cl,

Question Number : 182 Question Id : 16794312009 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Oxygen brings out the group oxidation state for many elements more readily than fluorine due to:

Options:
» Decreased steric crowding

% Higher electronegativity
% Lower atomic radius

% Higher lonization enthalpy

Question Number : 182 Question Id : 16794312009 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

HTFHISTT FAINA T ol H F5 dcdl & g o HIFHHLUT HaEAT HI A0S HHT F FAT ofem 87
Options:

g T #3789 (Decreased steric crowding)

\':‘"{?

[

., 3=9 Taegd®vNcAshal (Higher electronegativity)
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., T TA] =47 (Lower atomic radius)

» 3T HTIAFI0T TATedT (Higher ionization enthalpy)

Question Number : 183 Question Id : 16794312010 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
The formula of the principal source of heavier lanthanoids, Basinasite, is:

Options:
% (Ln,Th)PO,

% LnPO,
» LnCO5F

% LnCO.(Cl

Question Number : 183 Question Id : 16794312010 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

AT oledeiss, aEAATEIEE, & H&T Tid & §F T §7
Options:

. (Ln, Th)PO,

« LnPO,
» LnCOsF

. LnCO,Cl

Question Number : 184 Question Id : 16794312011 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Hydrogen is predicted to exist naturally in metallic state at:

Options:
» Extremely high temperature

» Extremely high pressure
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% Room temperature

« Extremely low pressure

Question Number : 184 Question Id : 16794312011 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
EESIS & pfas ¥ F uifcass Ha¥dl H &8 HISG g9 1 HJA g2

Options:

% 3T 3= J9HAT 9T

v FcOd 359 g9 W

% FAL F ATHT 9T

% 37U AT e WY

Question Number : 185 Question Id : 16794312012 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Which of the following is the electron-precise hydride?

Options:
» GeH,

» BoHg
x H,0

» NH;

Question Number : 185 Question Id : 16794312012 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

fofofa #§ @ #i9 o7 soaa-aey (Tum) gEgEs 27

Options:

» GeH,

® EZHE
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« H0

» NH;

Question Number : 186 Question Id : 16794312013 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct : 1 Wrong: 0.25
Which of the following is the non-renewable energy source?
Options:
% Water

« Coal
% wind energy

% Solar energy

Question Number : 186 Question Id : 16794312013 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

frafefia # @ Fid I F=Ee0ia 51 d1d 672

Options:

% TTAT

o HITAT

% TFeT FST

x HIT F=AT

Question Number : 187 Question Id : 16794312014 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

The standard emf of hydrogen-oxygen fuel cell is:

Options:

# 246V

® 0,62V

w123V
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® 3.60V

Question Number : 187 Question Id : 16794312014 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
EESISA-AT ST SUe Uel & AldF 5.TH.UF. ohdal &lar 87

Options:

x 246 V

x 062 V
w123V

% 3.69 V

Question Number : 188 Question Id : 16794312015 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
What is the permanent hardness of water if water contains 46 mg/I. Mg(HCO;), . 36 mg/L Ca(HCO;), ., 30 mg/L

Mg50, . 24 mg/L CaS0, , 28 mg/L CaCl, and 10 mgT NaCl?

Options:
» 07.8 mg/L

% 121.5 mg/L

Question Number : 188 Question 1d : 16794312015 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Ife 9T # 46 mg/L Mg(HCO;3),, 36 mg/L Ca(HCO3),, 30 mg/L MgS0,, 24 mg/L. CaS0,,

28 mg/L CaCl, 3T 10 mg/L NaCl 3ufgya § ar arr $r Targ Ferar a7 27
Options:

» 07.8 mg/L

« 33.7 mg/L
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% 33.9 mg/L

« 121.5 mg/L

Question Number : 189 Question Id : 16794312016 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

In the prolonged electrolysis of water to prepare heavy water, the anode and cathode, respectively, are:
Options:

# Steel and nickel
« Nickel and graphite
« WNickel and steel

« Graphite and steel

Question Number : 189 Question Id : 16794312016 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
HTY A T 3 T 96T F oS §HG dF Regdeiul A, TAs AR s wEe w2ar g 82

Options:

» STIT AR Fea
. T 3kt IwEe
o e AR sTe

« IPES AR T

Question Number : 190 Question Id : 16794312017 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

The dihedral angles in gas phase and solid phase, respectively, of hydrogen peroxide are:
Options:

% 90.2° and 111.5°

% 101.5° and 94.8°
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% 132.5%and 70.5°

« 111.5° and 90.2°

Question Number : 190 Question Id : 16794312017 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

eSS gTHTEFaeE Fr 3w smTar Ak 3 =T F Sfaaw FoT (31Edse U dihedral angles) e
T E 82

Options:

% 90.2° 3T 111.5°
% 101.5° 3lx 94.8°
% 132.5° 3kt 70.5°

» 111.5° 3T 90.2°

Question Number : 191 Question Id : 16794312018 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Which of the following is not a method for the commercial production of dihydrogen?

Options:
% lane’s process

« Electrolysis of water

« Action of water on metals

% Bosch’s process

Question Number : 191 Question Id : 16794312018 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

F=faf@a # ¥ #i9 O sseEses & Samis 3oaea & v B3 a8 32
Options:

% ofel 9fehar

Wmﬁe;gr—rm
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Question Number : 192 Question Id : 16794312019 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Diagonal relation is explained in terms of polarizing power. The correct formula for polarizing power is:
Options:

Ionic charge

% lonic radius?

Ionic charge

« lonic radius?

Ionic charge

% lonic radius®

Ionic charge

# lonic radius

Question Number : 192 Question Id : 16794312019 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

oo wey @1 gt afed & F@E § FHEeA 74T ¢ g Afed & T §@r g7 Far @
Options:

HTafas 1T
% NI =T

1At TFeT
v AT BT

HTaTAR TIT
% AT =

IS T
% T =

Question Number : 193 Question 1d : 16794312020 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Correct: 1 Wrong: 0.25
Which of the following is not a biological importance of sodium ions?

Options:
» They activate many enzymes in intracellular fluids

% Transmission of nerve signals
% They regulate the flow of water

% They are responsible for the transport of sugars and amino acids into the cells

Question Number : 193 Question 1d : 16794312020 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

=T & @ 9 a1 = afts s &1 2R AgaT A8 27

Options:

o ¥ HHRET e F 75 R T =1 8
w TSI Tehcepl & FEIOT
o ¥ IR F gAE T Eia w8

o FFFET F o ik ofder aee & oiEEa ¥ R ot §

Question Number : 194 Question Id : 16794312021 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

The sodium D-line arises from which electronic transition in sodium atoms formed in the flame?
Options:

% 3s!— 34!

« 3pt — 3d?
% 351 > 4s?

Y e i

Question Number : 194 Question Id : 16794312021 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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WETn f-emsa AETH WAUET & saen # Fw seegiaed e ¥ 3c9e giar g7
Options:

% 351 > 341
¢ 3pt—ad?
% 351 - 4g1

» 3st - 3p*

Question Number : 195 Question 1d : 16794312022 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Hydrated salts cannot be formed by:

Options:
# LI

®# K
« Rb

% NMNa

Question Number : 195 Question Id : 16794312022 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
ZE3eT F90T % @ AT §AIC ST Hehd 27

Options:

% Li

# K
« Rb

% Na

Question Number : 196 Question Id : 16794312023 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The formula of phenacite is;

Options:
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« Be,ALSi 0,
 Be,Si0,
.« MgC0,.CaCo,

« MgS0,.7H,0

Question Number : 196 Question Id : 16794312023 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

ATATSE H HI FT g7

Options:

 Be,Si0,
. MgCO,.CaCO,

. MgS0,.7H,0

Question Number : 197 Question Id : 16794312024 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which of the following is not a polvmorph of calcium carbonate?

Options:
« Perovskite

% Calcite
% Aragonite

% Vaterite

Question Number : 197 Question Id : 16794312024 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
ﬁmﬁﬁﬁﬁﬁaﬂﬁmm%ﬁammﬂw(ﬁﬁﬁ) Tar 272

Options:


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda24T7

Question Number : 198 Question Id : 16794312025 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
The correct biological function of magnesium is:

Options:
» Important constituent of DNA and RNA

% Important in tertiary structure of protein
» Electrochemical and enzyme-activating functions

% Important in nerve functioning in animals

Question Number : 198 Question Id : 16794312025 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

HIATTH 1 TEr A9 F1T 747 87
Options:
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Question Number : 199 Question Id : 16794312026 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The metal obtained from the auto reduction of its oxide with sulfide is:
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Options:
» CUu

#® Zn
% Al

% Fe

Question Number : 199 Question Id : 16794312026 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
38 o F AH FT g A7 ATA FFHES HI Hebss & HY FATHIS F I g g2

Options:
+« Cu

% Zn
% Al

% Fe

Question Number : 200 Question Id : 16794312027 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which of the following has a high Pka value?

Options:
» CHz — CH, — COOH

« CH, — CH(CI)—COOH
« CH,(C)— CH, — COOH

« CH(CI), — CH, — COOH

Question Number : 200 Question Id : 16794312027 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Tafaf@a & @ fger Pka A 3=9 82

Options:
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. CH; — CH, — COOH
« CH; — CH(CI) — COOH
« CH,(C) — CH, — COOH

. CH(CI), — CH, — COOH

Subject Related

Group Number : 11

Group Id : 167943382
Group Maximum Duration : 0

Group Minimum Duration : 0

Revisit allowed for view? : No

Revisit allowed for edit?: No

Break time: 0

Group Marks: 20

Subject Related

Section Id : 167943441

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number : 1
Sub-Section Id: 167943754
Question Shuffling Allowed : Yes

Question Number : 201 Question Id : 16794312028 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Takai reaction of aldehydes gives which of the following products?

Options:
# Alkane

« Alkene
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» Alkyne

% Epoxide

Question Number : 201 Question Id : 16794312028 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

ufSemes £ ot 3w SRR Y A T s & P
Options:

% Toehel
» Toehlel

« TAFETES

Question Number : 202 Question Id : 16794312029 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which of the following is an example of dialdehyde?

Options:
% Vanicin

» Buteraldehvde
» Glyoxal

% Furfural

Question Number : 202 Question Id : 16794312029 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

afafEa # ¥ #i9 °1 ==viesgss 1 vF 3280 87
Options:

. THEToSETSS
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Question Number : 203 Question Id : 16794312030 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The process by which ketones are formed by the hydrolysis of salts of secondary nitro compounds is known as:

Options:
% Dakin—West reaction

% Fukuyama coupling

+ IWef Reaction

% Friedel craft’s

Question Number : 203 Question Id : 16794312030 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Sladrs AEer AR F F90T & FESIfOeT SO held a0 JreT IRhaT T FE TSR AT ST 87

Options:

% Elfehal-a&c THTRAT

\;?rq;a%ﬁhﬁnrr

% TAISeT FUe

Question Number : 204 Question Id : 16794312031 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Ketones form derivatives by reacting with ammonia.
Options:

« Imine

% amine

% enamine
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% ketal

Question Number : 204 Question Id : 16794312031 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

FT FATATT F Ty ¥AFT FF afeg g9 2

Options:

L F
% AT
% TATHA

% Sheol

Question Number : 205 Question Id : 16794312032 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
¥HTE FE 9 # F1F F9 87
Options:

x HTO SelEIEEd

, =0 gFoaImEe
, I5H S8H

30 FfFeeEd AR EE 30w At

Question Number : 205 Question Id : 16794312032 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Amines act as:
Options:

% Good electrophiles

% Good nucleophiles

% Lewis bases
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» Both good nucleophiles & lewis bases

Question Number : 206 Question 1d : 16794312033 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Primary and Secondary amines form and on reaction with and

Options:
» imines and enamines: aldehydes and ketones

» enamines and imines; aldehvdes and ketones
% Imines and enamines; ketones and aldehydes

% enamines and enamines: aldehydes and ketones

Question Number : 206 Question 1d : 16794312033 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Tr@AE AR gfadrT aEed Eh iy T st = Ak TS £

Options:

» 5 AR =3, tomgEs iR free
. ST 3 = vfeEaEs sk few
. 58T 3t e, few ik ofeEEss,

. SAFAA T SA3H e, Tlesgss 3R Fee

Question Number : 207 Question 1d : 16794312034 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
High basic nature is observed by:

Options:
% CgHsNH,
+ C H-CH,NH,

« C.H;CH,CH,NH,
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» Cyclohexylamine

Question Number : 207 Question 1d : 16794312034 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
3ea a0 e frad & s &2

Options:

« CcH:NH,
. CcH:CH, NH,

. CoH:CH, CH,NH,

o AreFadlgaasasdia (Cyclohexylamine)

Question Number : 208 Question Id : 16794312035 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The product formed in Bischler-Napieralski reaction is:

Options:
» Cyclic imine
# Amine

% Aldehyde

% Nitrile

Question Number : 208 Question 1d : 16794312035 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:
» TEfEds sH

« Tlesgss
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Question Number : 209 Question Id : 16794312036 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Carbylamine test is used for the detection of:

Options:
% lertiary amines

% Secondary amines
» Primary amines

% All amines

Question Number : 209 Question Id : 16794312036 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Options:

. T anhew

« GEdT AH
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% THAT FHHAT

Question Number : 210 Question Id : 16794312037 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
‘Which of the following act(s) as thermosetting resins?

Options:
% Poly styrene

» Polyesters

» Polyamides
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% Polyethylene

Question Number : 210 Question 1d : 16794312037 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Options:

% TTTEERI

JQﬁ'QRT
., TTeTATSS
, Tresereia

Question Number : 211 Question Id : 16794312038 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which of the following is a polymeric product?

Options:
% Wood

# Meat
% Coftton

«+ Rubber

Question Number : 211 Question Id : 16794312038 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

TeRRa & 8 Flg o = TgeIh 3T 2

Options:

% hHElH
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Question Number : 212 Question Id : 16794312039 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Poly oxy methylene is formed from monomers unit:

Options:
% Ethylene oxide

« Trioxane
« Tetrahvdro furan

% Caprolactum

Question Number : 212 Question Id : 16794312039 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
qret AT Fusela T THew sERH (FAEER IfEeH) ¥ Feaes 99 g 82

Options:
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Question Number : 213 Question Id : 16794312040 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
The type of bonding predominant in polymers is:

Options:
# Metallic

% Jonic

« Covalent
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% Dipole forces

Question Number : 213 Question 1d : 16794312040 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
ageTH H g 9T FT HEYT g& g aT 87

Options:

% EITcaeh

% HOTAS
» TEETET
, ST (S T

Question Number : 214 Question Id : 16794312041 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Which of the following polymers is non-polar?

Options:
» Polypropylene

% Acrylonitrile
® PVC

» Both Acrylonitrile & PVC

Question Number : 214 Question Id : 16794312041 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
formafaf@a & @ #la @1 sgers -y 27

Options:

, TRl
 TTRTEETEe

% ST
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» Treiaserse T frardr a=t

Question Number : 215 Question 1d : 16794312042 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Which of the following is not a basic amino acid?

Options:
% Aspargine

% Glutamine
« Serine

x Arginine

Question Number : 215 Question Id : 16794312042 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Trfafaa # ¥ 9 31 v &g of@ar 3 78 22

Options:

Question Number : 216 Question Id : 16794312043 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
The B-pleated sheats form the structure of proteins.

Options:
% primary

» secondary

5 tertiary
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% quarternary

Question Number : 216 Question Id : 16794312043 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
p-ToreE offiew W Fr =T §TdT ¢

Options:
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Question Number : 217 Question Id : 16794312044 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Dansylation is a method to determine:

Options:
» Amino-terminal residue of peptide

» Carboxy-terminal residue of peptide
» Peptide bond

% Both Amino-terminal residue of peptide and Carboxy-terminal residue of peptide

Question Number : 217 Question 1d : 16794312044 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

sifEere Far Fafig &= & v By &2
Options:
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, UTETEE & FelFaT-ZiHae Iy
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Question Number : 218 Question 1d : 16794312045 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0.25

Reef degradation takes place in the presence of:

Options:
W FEE+

% Fe?*
- Mg2+

% Mn?*

Question Number : 218 Question Id : 16794312045 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct : 1 Wrong: 0.25

% e e sufeufa & gar 72

Options:
v FE_E +

% Fe2™

% Mg2+

% Mn?t

Question Number : 219 Question Id : 16794312046 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct : 1 Wrong: 0.25

Rickets is caused by the deficiency of:

Options:

% Vitamin - A

« Vitamin - D

% Vitamin- B

% Vitamin-C
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Question Number : 219 Question Id : 16794312046 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

frew fraer &8 & gar 87

Options:

x Tafas - A
v HaFa - D
x foafas - B
% fEafda - C

Question Number : 220 Question Id : 16794312047 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Hormeone that is not synthesised by the process is:

Options:
% Insulin

% Glucagon

% Somatostatin

« Melatonin

Question Number : 220 Question Id : 16794312047 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

w1 FET 9feFar g el 747 gar 272

Options:

v $GAA


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda24T7

Subject Related

Group Number : 12

Group Id: 167943383
Group Maximum Duration : 0

Group Minimum Duration : 0

Revisit allowed for view? : No
Revisit allowed for edit?: No

Break time: 0

Group Marks: 20

Subject Related

Section Id : 167943442

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 167943755
Question Shuffling Allowed : Yes

Question Number : 221 Question Id : 16794312048 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
PS I and PS II consist of metal ions.

Options:
« Mn?*

% Catt
% Fe??

% Fe3*

Question Number : 221 Question 1d : 16794312048 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

PSI 3R PSII UTfeTesh TS ¥ 7 29 &1

Options:
. Mn2+
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Question Number : 222 Question 1d : 16794312049 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Glucose and galactose are:

Options:
% Anomers

» Epimers
% INon-sugars

% Disacharides

Question Number : 222 Question Id : 16794312049 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
T AT el F4T 87

Options:
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Question Number : 223 Question 1d : 16794312050 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Which of the following is not responsible for water pollution?
Options:

% SEewage waste
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% Pesticides

» Bio-degradable waste

% Radio-active waste

GET IT ON
Google Play

Question Number : 223 Question Id : 16794312050 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0.25

fr=fefEa & @ w9 o9 9guor % v sooerdr =8 87

Options:

» FS (Tra=T) 39fIse

% ThICaTIR

v HAT-HIUSATT HUTRISE

%ﬁ-ﬂﬁm

Question Number : 224 Question Id : 16794312051 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct : 1 Wrong: 0.25

Acid rains are caused due to:

Options:
% S0,

% NO;

» Both 50, & NO,

% CO;

Question Number : 224 Question Id : 16794312051 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0.25

HFT IuT TohEs &IoT 2T 87

Options:

x 50,
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« NO;

» S0, 3k NO, =t

x CO;

Question Number : 225 Question 1d : 16794312052 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Itai disease is caused due to:
Options:

% Mercury pollution

» Cadmium pollution
% Lead pollution

% Sodium pollution

Question Number : 225 Question Id : 16794312052 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

=215 (Itai) V9T TFEF FIOT T 27
Options:

% JIRT HGEUT
J%ﬁmw

o TR SEoT

Question Number : 226 Question Id : 16794312053 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Which of the following is not an antibiotic?
Options:

« Tetracyclins
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% Oflaxins

% Cefixime

+ Ranitidine

GET IT ON
Google Play

Question Number : 226 Question Id : 16794312053 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct : 1 Wrong: 0.25

Tafela § ¥ &9 @ v wdeates Fa 87

Options:

. EgrETE R

wﬁﬁm

x AfreaEH
v Jaresa

Question Number : 227 Question Id : 16794312054 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct : 1 Wrong: 0.25

Valinomyecin consists of:

Options:
v K*

# Nat
% Catt

% Mg2+

Question Number : 227 Question Id : 16794312054 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct : 1 Wrong: 0.25

AR e ¥ = s 22

Options:
v K*

% Nat
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Question Number : 228 Question Id : 16794312055 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Compounds that inhibit the action of compounds are:

Options:
% Analgesics

« Antipyritics
« Antihistamines

% INarcotic drug

Question Number : 228 Question Id : 16794312055 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Iiffs = S & T Fr g ¥ 302 F4T 8 27
Options:

% Toleal (a0
» TERTEH
» TigEHE
x FARPICHFE FIT

Question Number : 229 Question Id : 16794312056 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which of the following is an antacid?

Options:
% Cimetidine

% Omeprazole
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» Both Cimetidine & Omeprazole

% Novestrol

GET IT ON
Google Play

Question Number : 229 Question Id : 16794312056 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct : 1 Wrong: 0.25

Tafe@a § ¥ &9 37 9oz (Tef@s) 27

Options:

« AR

% JTHITSAT

v TafeEa 3R Aau=e aar

. A

Question Number : 230 Question Id : 16794312057 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0.25

Which of the following is a tranquilizer?

Options:
% Oxytocin

« Valium

% Rantac

% Amoxycilin

Question Number : 230 Question Id : 16794312057 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0.25

Tfaf@a & ¥ #ia o1 3TerAs (3w (@Faersen) g2

Options:

o
% JTFHETIEA

géﬁm
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% ee&
% THTFEETeT

Question Number : 231 Question 1d : 16794312058 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Drugs that inhibit the growth of bacteria and kill bacteria, respectively, are called:

Options:
» Bacteriostatic, Bactericidal
« DBactericidal. Bacteriostatic

% Both are called Bactericidal

% Both are called Bacteriostatic

Question Number : 231 Question Id : 16794312058 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

gare St Sfaropsit #r gie @ dedt § AR Sharst @ AR 8, 398 FHA FAT FHgl AT 82

Options:

| drdteRfE, dvefimEsT
. SFINAEESH, SecaEefes
. 2 YA s
w ST P FFRIREEF Fed &

Question Number : 232 Question Id : 16794312059 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Isoniazid is an:
Options:

% Analgesic

» Anti-TB diug
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% Antipyretic

% Antihistamine

Question Number : 232 Question Id : 16794312059 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

FEafATTSE #4722

Options:

% TATooATOS

» TW@-TB g
e f
% TSIgEEA

Question Number : 233 Question Id : 16794312060 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Tetracycline are a type of:

Options:
% Analgesics

% Antipyretics
+ Antibiotics

% Antihistamines

Question Number : 233 Question Id : 16794312060 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

ST hEe T g 27

Options:

% TAToATOFH

. TemEifeaw
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Question Number : 234 Question Id : 16794312061 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which of the following options represents the correct order of boiling points?

Options:
% Propane < 1,2 propanediol < diethyl ether

» Propane < diethyl ether < 1.2, propanediol
% Propane > diethvl ether >1.2, propanediol

% Propane = diethyl ether =1,2, propanediol

Question Number : 234 Question Id : 16794312061 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

rafefeT feear § § 39 o 5T 39 & Ter %5 & goffar 272

Options:

x T < 1,2, YRSSSATS < SEURS S
o 9N < TETRE 5 < 1,2 9Nassaie
» IO > TEUTAS S > 1,2 9N are
» IO = ST ST = 1,2, 99AsEaTT

Question Number : 235 Question Id : 16794312062 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Dow’s process is used for the preparation of:

Options:
% Alcohols

% Ethers
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w Alkyl halides

« Phenol

Question Number : 235 Question Id : 16794312062 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

el § @ B8 99 & e sra & gfear 93T & Sdar 872

Options:

Question Number : 236 Question Id : 16794312063 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Which of the following is a secondary alcohol?

Options:
. CH,=CH—CH,— OH

 CH, — CH(C.H.) — OH
w CH,— G, ~CH, —0H

» CH, — CH(CH,)— CH, — OH

Question Number : 236 Question 1d : 16794312063 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

T=ef@a & a w9 o gfedy 3o 87

Options:

« CH, = CH — CH, — OH

»~ CH; — CH(C4Hg) — OH
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y Ol —CH, —C1, — 0l

g CIL — CHCH) — 11, —OHf

Question Number : 237 Question Id : 16794312064 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
The TUPAC name of the following is:

CH; —C(CH;) = C(Br)— CH,— CH,0H
Options:
» 2-Bromo-3-methyl but-2-en-1-ol

% 2-Bromo-3-methyl butanol
% 2-Bromo-3-methyl but-4-ol

% 2-Bromo-3-methyvl but-2-en-4-ol

Question Number : 237 Question Id : 16794312064 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

CH, — C(CH,) = C(Br) — CH, — CH,O0H & |UPAC =T &7 27
Options:

» 2-Bromo-3-methyl but-2-en-1-ol
« 2-Bromo-3-methyl butanol
» 2-Bromo-3-methyl but-4-ol

« 2-Bromo-3-methyl but-2-en-4-ol

Question Number : 238 Question 1d : 16794312065 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The Oxygen atom of alcohol is:

Options:
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% Sp

« Both Sp? & Sp?

GET IT ON
Google Play

Question Number : 238 Question Id : 16794312065 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct : 1 Wrong: 0.25

Hoerlge 1 AFdst AL Frafafla & & &7 87

Options:

« Sp? 3T Sp® a&r

Question Number : 239 Question Id : 16794312066 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct : 1 Wrong: 0.25

The Pka value is highest for:

Options:
« Ethanol

% Phenol

% Acetic acid

% Both Ethanol & Phenol

Question Number : 239 Question I1d : 16794312066 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct : 1 Wrong: 0.25

foraerr Pka &7 AT o€ 30+ gar g2

Options:

v TATH

« fohater
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« Tiafes 37

Question Number : 240 Question Id : 16794312067 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which of the following does not react with K,Cr,0,?

Options:
% Primary alcohol
% Secondary alcohol

» Tertiary alcohol

% All alcohol

Question Number : 240 Question Id : 16794312067 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 025
et & & #iF K,Cr,0, & @ryr 33 a8 oar 22
Zptwma?ﬂw

x ST 3HehEgd

v T HoHIE

. T 3epige (All alcohol)
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Section Id : 167943443

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number : 1
Sub-Section 1d: 167943756
Question Shuffling Allowed : Yes

Question Number : 241 Question Id : 16794312068 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Haloalkanes cannot be prepared by:;

Options:
» Electrophilic addition

« Electrophilic substitution

» Nucleophilic substitution

Question Number : 241 Question Id : 16794312068 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

gATeFa fFEe SaRT AEr IAIC ST TFd 27

Options:

o . CT. TR
-

. FoTBT STETTe

, T gfarurds

Question Number : 242 Question Id : 16794312069 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Which of the following takes part in SN2 reaction?

Options:
% CH; — C(X), — CH,

« CH, — CHX— CH,
w CH, —ECH, =X

» CHX

Question Number : 242 Question Id : 16794312069 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Hafaf@T & ¥ 39 SN2 3o & uwr oar &2

Options:

% Cht — GO0, — T8
« CH; — CHX — CH;
o O —CH, — %

» CH,X

Question Number : 243 Question Id : 16794312070 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Which of the following participates fast in SN mechanism?

Options:
# R-F
% R-Cl
# R-Br

« R-1

Question Number : 243 Question Id : 16794312070 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

T=f@a & @ #i9 37 SN? FafRfa & 3= @ ser oar 22
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Options:

# R-F

% R-Cl

# R-Br

« R-1

Question Number : 244 Question Id ;: 16794312071 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Cl; AqKOH ) )
Toluene — X » Y. In this reaction. X and Y are:

Options:
% Vinyl chloride, Benzyl alcohol

» Benzyl chloride, Benzyl alcohol
» Benzyl alcohol, Benzyl chloride

% Benzyl chloride, phenol

Question Number : 244 Question Id : 16794312071 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Toluens A% 2R, v =@ Tt At # X 3k Y =

e e, dorge s

Question Number : 245 Question 1d : 16794312072 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

R F i T argst ot Ten w3 #7 &w Brls & suger fBFar smar g7
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Options:

# CN™
«+ EDTA
# NCS™

x ClI™

Question Number : 245 Question Id ;: 16794312072 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which ligand is used in elimination of harmful radioactive metals from the body?

Options:

# CN™
« EDTA
x NCS™
x CI°

Question Number : 246 Question Id : 16794312073 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
[Pt(py),]**. [PtCl,]*T is an example of:

Options:
% Cationic complex

% Anionic complex
» lonic complex

% Neutral complex

Question Number : 246 Question Id : 16794312073 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
[Pt(py).]?".[PtCl, ] Tomerr T 3eTeoT 87

Options:
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Question Number : 247 Question 1d : 16794312074 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
[NiCl,]?" ion is:
Options:

« sp®. Diamagnetic

 Sp?, Paramagnetic
% dsp?. Diamagnetic

« dp?. Paramagnetic

Question Number : 247 Question Id : 16794312074 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
[NiCl,]?~ 3o &ar gar g2

Options:

. Sp°, 9fa - b
 sp?, FTIEHT
o 23

’ _
., dsp?, gfa-=Er

dp?, aﬂgﬁm

®

Question Number : 248 Question Id : 16794312075 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
How many number of electrons are donated by ligands in [Ni(en);]** ?
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Options:
® 3

% 6
o 12

% 14

Question Number : 248 Question 1d : 16794312075 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
[Ni(en),]** & oz earr fFaa soeeia fRw a9 &7

Options:

x 3

% B
« 12

% 14

Question Number : 249 Question Id : 16794312076 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Which d-block elements has highest oxidation state?

Options:
# Mn

« Os

% Pd

Question Number : 249 Question Id : 16794312076 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
T d-sae Tcg FT AHeEET HETAT TEY O g 87

Options:

% Mn
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« Os
% Pd

# Nb

Question Number : 250 Question Id : 16794312077 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Mn-Cu alloys indicate behaviour.
Options:

% diamagnetic

% paramagnetic
_» ferromagnetic
o

» antiferromagnetic

Question Number : 250 Question Id : 16794312077 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Mn-Cu &1 erg Iaer =T 9 g

Options:

, Sle-sEeha

, Follg-TEhra

Question Number : 251 Question Id : 16794312078 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Which of the following is the correct order of magnitude of A ?
Options:

% [Co(CN)¢]3™ = [Co(NH;)6]3* > [Co(H,0)¢ )3t
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v [Co(H;0)¢]** > [Co(NH3)¢]** > [Co(CN)6]*~
% [Co(NH;)]** > [Co(H;0)6]** > [Co(CN)4]*~

% [Co(CN)g]*™ > [Co(H,0)6]** > [Co(NH3)6**

Question Number : 251 Question 1d : 16794312078 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

T # ¥ &9 @1 1 & iAo # T8 #7 &2

Options:

« [Co(CN)]?~ > [Co(NH3)¢]3" > [Co(H,0)?Y
»[Co(H,0)¢ P > [Co(NH;)]** > [Co(CN)]*~
« [Co(NH3)¢]?* > [Co(H,0)¢ P+ > [Co(CN)]3~

« [CO(CN)¢]*™ > [Co(H,0)¢]*" = [Co(NH3)]**

Question Number : 252 Question Id : 16794312079 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Rare earths are also called:
Options:

» II A group elements

% 4d-block elements
« 4f-block elements

% St-block elements

Question Number : 252 Question Id : 16794312079 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
I Fe (ot g F FAT FHEl ST 87

Options:

LI A @ a3
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% 4d-=ollF dea
v 4= I

% Sf-solleh dF

Question Number : 253 Question 1d : 16794312080 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Which option represents the correct basicity order?

Options:
« La(OH), ~ Lu,0; > Lu(OH), ~ La,0,

« Lu(OH), > La(OH), > Lu,0, > La,0,
» La(OH); ~ La,0, > Lu(OH), ~ Lu,0,

% None of these options

Question Number : 253 Question Id : 16794312080 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

i @1 FereT ailiTar & "er 7 # g2 872

Options:

» La(OH); ~ Lu,0; > Lu(OH); = La,0,

% Lu(OH); > La(OH); > Lu,05; > La,0;

» La(OH); ~ La, 05 > Lu(OH); ~ Lu,0;

» 57 ToeFeur H ¥ #15 7@l

Question Number : 254 Question Id : 16794312081 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which pair of elements from below have the same atomic radii (in A®)?

Options:
# VandNb
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% CoandRh
% Scand Y

« Wb and Ta

Question Number : 254 Question Id : 16794312081 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
A foT 71T Aeat F geA H ¥ ey F WA B (A° #) e §AE 87

Options:

%« V 3T Nb

% Co 3T Rh
« Sc 3Ty

+»Nb 3T Ta

Question Number : 255 Question Id : 16794312082 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which of the following is the correct decreasing order of complex formation with ligand?

Options:
« Lot > Ln®Y din

% Lot =A% >
x In?t > Eat = Entt

% Lt > Ln? > kn't

Question Number : 255 Question Id : 16794312082 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

F=faf@a & @ #ia o OFfe 5 o Sfta soq (Fircesw BrHTa) FT Ha uedT 7 27
Options:

LM B S Lntt
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% Ln®t = In®F = In%

w Lo = Intt = In?t

x Ln*F = In®F = In%

GET IT ON
Google Play

Question Number : 256 Question 1d : 16794312083 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0.25

How many 3C — 2e™ bonds are in diborane?

Options:
#® 1

Question Number : 256 Question Id : 16794312083 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct : 1 Wrong: 0.25

SEaA H fhaa 3C — 2e” 3=y g a &7

Options:
% 1

& 2

%3

% 4

Question Number : 257 Question 1d : 16794312084 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct : 1 Wrong: 0.25

Which option represents the correct order of stability?

Options:

x ICl = CIF > BtF = IF

% CIF = BrF = IF = ICl
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« IF = BrF = CIF = ICl

% None of these options

Question Number : 257 Question Id : 16794312084 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

i O FeFreq BTG & HEr FH T gATar 22
Options:

x IC1>CIF > BrF > 1F

% CIF > BrF > IF > ICl

« IF > BrF > CIF > ICl

x 5H ¥ #13 Reed @

Question Number : 258 Question Id : 16794312085 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Iodine reacts with excess of fluorine to form:
Options:

4 IF,
% IFs
% 12F¢

x IF3

Question Number : 258 Question Id : 16794312085 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

HOET Tl &7 3faieg 7T ¥ 33T = a7 Sa97a7 87

Options:
9 |

% IFs
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® IEFE

x 1F;

GET IT ON
Google Play

Question Number : 259 Question Id : 16794312086 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0.25

What is the shape of IF, " ?

Options:

% Tetrahedral

% Bent

% Square planar

« Seasaw

Question Number : 259 Question Id : 16794312086 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct : 1 Wrong: 0.25

IFfﬁH@ﬁ-’r%@rﬁFﬁ%?

Options:

, TITFehT (SZET)

x T (32)

» T el (THTAT TATAT)

v "4t

Question Number : 260 Question Id : 16794312087 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct : 1 Wrong: 0.25

Which of the following configurations have strong distortion?

Options:

% t,g% eg?

% g% eg?
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v 028° eg’

x L3 go Egu

Question Number : 260 Question Id : 16794312087 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

fraffte & & e Reaw & g9 el o ¥2

Options:
5 2
% L2807 eg
4 2
% 128" eg
3 1
s izg e
0 0
x 08 eg
subject REelated
Group Number : 14
Group Id: 167943385
Group Maximum Duration : 0
Group Minimum Duration : 0
Revisit allowed for view? : No
Revisit allowed for edit?: No
Break time: 0
Group Marks: 20
subject Eelated
Section Id : 167943444
Section Number : 1
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questionsto be attempted: 20
Section Marks: 20
Display Number Panel: Yes
Group All Questions: No

Sub-Section Number: 1
Sub-Section Id: 167943757
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Question Shuffling Allowed : Yes

Question Number : 261 Question 1d : 16794312088 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Diborane reacts with excess of NH, at high temperature to form:

Options:
% Boric acid

% Borazine
® E4 Hll]

+ Boron nitride

Question Number : 261 Question Id ;: 16794312088 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

SEENA 39 99AE 9T NH; Fr 3faReg amr @ 3@ s 77 a9rar 27
Options:

% FIE 3F

x ST

® Bd-HlO'

o SN ASEES

Question Number : 262 Question Id : 16794312089 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which option represents correct arrangement per metallic character of given elements?

Options:
# B<TlI<In<Ga
« B<Ga<In<TI]

# Tl<In<=Ga<B

# TIl<Ga=In<B
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Question Number : 262 Question 1d : 16794312089 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Fia @1 FereT R 71w Teat & 9fg anfcas oaor & |@gr sgaw & geiar 82

Options:

x B<TlI<In<@Ga

v B<Ga<In<TI]
x TI<In<Ga<B

x TI<Ga<In<B

Question Number : 263 Question 1d : 16794312090 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
‘Which option represents the correct decreasing order of shielding effect?

Options:
& 52::-pj:»d =
g f=d>s>p

% f=dz= p=s

" 51::~fﬁ>dj:>p

Question Number : 263 Question I1d : 16794312090 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

IRIEToT g (M=t s%hae) = T gt A Feateiaa ¥ ¥ #1137
Options:

vs>p>d>f

g f>d>s>p

xfT>d>p>s

xs>f>d>p

Question Number : 264 Question Id ;: 16794312091 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Correct: 1 Wrong: 0.25
Which oxides react with B, O, to form metaborates?

Options:
% Acidic oxides

+ Basic oxides
% Salts

% Both Acidic oxides & Basic oxides

Question Number : 264 Question 1d : 16794312091 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
HiT I 3FaEs B,0; & Ay 3fATRT #T F ARy g4 272

Options:

. FNT HFHES
o BRI 3TeEEs
% ofqur

x HFIT TeFaEs AR el sfeEEE oEr

Question Number : 265 Question Id : 16794312092 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The molecular formula of Borax is:
Options:

« Na,B,0..10 H,0
« Na,B,0..10 H,0
» Na,B,0,.10 H,0

« Na,B,0..10 H,0

Question Number : 265 Question Id : 16794312092 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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INFT F A0 TF FT 872

Options:

. Na,B,0:.10 H,0
~ Na,B,0,.10 H,0

. Na,B,0:.10 H,0

Question Number : 266 Question Id : 16794312093 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The element Si is obtained by reducing 510, with:

Options:
% Graphite

% Diamond

« Coke

# Preons

Question Number : 266 Question Id : 16794312093 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Si0, #r fFEF AT IHT=T FF ded Si Iod AT Far g2

Options:
& UPIST
% BRI
/ Pk

» 913tT (Preons)

Question Number : 267 Question Id : 16794312094 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Calcium carbonate is strongly heated to form:
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Options:
% Sodium carbonate

« Calcium oxide
% Sodium oxide

% Calcium

Question Number : 267 Question Id : 16794312094 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
HToTH FHElAC HF o= TTH F{eh FIT FATAT ATl 27

Options:

% TETH FEAc

 FoTH HFEEs
. HIETH 3=aEs

% hieITTH

Question Number : 268 Question Id : 16794312095 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which of the following is a low spin square planar complex?

Options:

x [Ni(CN), ]~
% [PACL, 1"
% [Pt(NH3),]**

» All of the options

Question Number : 268 Question 1d : 16794312095 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Te@a # ¥ i I o Tud T=ET saal FiEcds g g7

Options:
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« INI(CN), ]2
. [PACL, ]2
« [PE(NH3),]*

v T Ewe

Question Number : 269 Question Id : 16794312096 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Combination of ‘n’ atomic orbitals gives molecular orbitals.
Options:

# n+l

# n—1

¥ 1

# n+ 2

Question Number : 269 Question Id : 16794312096 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

‘0’ IIATY] FEHAT B HAAA HIT0ae FET &ar gl
Options:

s nt+1

# n— 1

o 1

# n+2

Question Number : 270 Question Id : 16794312097 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

The boiling point does not depend upon:
Options:

» Solubility of compound in water
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» Polarity of molecules

% Size of molecule

% Hydrogen bonding

Question Number : 270 Question Id : 16794312097 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

FaUATF Fg W e 78T Far 22

Options:

ﬁu‘rﬁmaﬁrmﬁﬁﬁgﬂmﬁaﬁ
Qw&w
waqu;#}ﬂim

« BTEEI T8

Question Number : 271 Question Id : 16794312098 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Which method is suitable for separation of organic compounds from aqueous solutions?
Options:

% Fractional distillation

% Distillation
% Steam distillation

« Solvent extraction

Question Number : 271 Question Id : 16794312098 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Sl ems & @ Fefas At @ gy F=3 F B sia @ Y 5@ 39gs 22

Options:

« HI9sF HTEea
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% SeT-HTHde1

e fTSHyUT (Aeae TaHeaR)

Question Number : 272 Question Id : 16794312099 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
On reaction with water, calcium carbide gives:

Options:
# Methane

% Carbine
» Acetylene

% Acetaldehyde

Question Number : 272 Question Id : 16794312099 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

9T T HAERTR F 9 SR FEIss =T & 27
Options:

% HIIF

Question Number : 273 Question Id : 16794312100 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Cyclobutadiene is:

Options:
% Aromatic

« Antiaromatic
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# Homoaromatic

% Nonaromatic

Question Number : 273 Question 1d : 16794312100 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
ASFelegeTsed F4T 67

Options:

|

Question Number : 274 Question Id : 16794312101 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which compound has magnetic susceptibility?

Options:
# Benzene

% Naphthalene

« Anthracene

% Azulene

Question Number : 274 Question Id : 16794312101 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
w4 & Fehra gagelear e g2
Options:

% SoieT

% TFdele
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Question Number : 275 Question Id : 16794312102 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Chlorination of alkanes is an example of:

Options:
« Free radical

% Addition
% Substitution

% Elimination

Question Number : 275 Question Id : 16794312102 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

TUoehed T Foll e [hEaT T 3EI8T0T 27
Options:

Jﬁﬁﬁ

x TREEA (vfEE)

% FaTag=T

JeHeled

# L

Question Number : 276 Question Id : 16794312103 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Alkadienes are classified into types.

Options:
% 1
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Question Number : 276 Question Id : 16794312103 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

TS hl YRl # Feffepa faam 713 g

Options:
% 1

% 2

3

% 4

Question Number : 277 Question Id : 16794312104 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Which of the following compounds reacts with conjugated diene to form cyclohexene?
Options:

# Hexane

% 1.3.5-hexiriene
» Dienophile

# Bromo benzene

Question Number : 277 Question Id : 16794312104 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

fafof@a & @ 9 w7 3 asFarsds s & BT sy ssea & ary wfEfE s 22
Options:

« gerdeT

» 1,3 5-g=mesa

 STBAMGESH

% FAT T
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Question Number : 278 Question Id : 16794312105 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The number of equatorial chlorine atoms in PCl: is:

Options:
% 4

Question Number : 278 Question 1d : 16794312105 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
PCls 7 $eFaeiiaer FaNie SRATOR I HEaT faae 872

Options:

% 4

Question Number : 279 Question Id : 16794312106 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Which of the following has Zero(0) dipole moment?

Options:
x NH;
% Hy0

# NO

Question Number : 279 Question Id : 16794312106 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda24T7

Frafefee & & 5 SfeET T3 (39 Anie) YFT g 87
Options:

« NH;
« H0
JCEHE

# NO

Question Number : 280 Question Id : 16794312107 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Allene must have which type of hybridization?

Options:
2
% Spd

X%
[y
=

B
[7p'
=

Question Number : 280 Question Id : 16794312107 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Tl H TFH 9o &1 gEfessene gar Ige?

Options:

% Spgd

Subject Related
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Group Number : 15

Group Id: 167943386
Group Maximum Duration : 0

Group Minimum Duration : 180
Revisit allowed for view? : No
Revisit allowed for edit?: No

Break time: 0

Group Marks: 20

Subject Related

Section Id : 167943445

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 167943758
Question Shuffling Allowed : Yes

Question Number : 281 Question Id : 16794312108 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Complete the following sentence by choosing one of the given options

Transfer of learning is said to be positive when:
Options:

% the previous learning hinders the present learning
» the previous learning facilitates the present learning

% the previous leaning has no effect on the present learning

% the present learning is not related to the previous learning

Question Number : 281 Question Id : 16794312108 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 282 Question Id : 16794312109 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Complete the following sentence by choosing one of the given options.

Participating in community activities and becoming a part of the society is a process of:
Options:
« Socialisation

% Acculturation
% Integration

% Modernisation

Question Number : 282 Question Id : 16794312109 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 283 Question 1d : 16794312110 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Complete the following sentence by choosing the right pair from the given options.

Dramatisation without words can be seen in:
Options:
» Pageant and Tableau

% Role Play and Pageant
% Play and Drama

% Puppetry and Role Play

Question Number : 283 Question Id : 16794312110 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 284 Question Id : 16794312111 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
What are the tests that a teacher administers to plan interventions called?

Options:
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% Formative assessment
% Informal assessment

» Diagnostic test

% Pre-test

Question Number : 284 Question 1d : 16794312111 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 285 Question Id : 16794312112 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Fill in the blank choosing the most appropriate options.

Words that mean different in different contexts, like the word “cloud’. could be a type of barrier in listening.
Options:

% physical factor

» linguistic factor

% psvchological factor

% emotional factor

Question Number : 285 Question 1d : 16794312112 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 286 Question Id : 16794312113 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
In the evolving trends in education, new disciplines are emerging. Identify one such discipline from the given options.

Options:
% Mathematics

» Curriculum development
% Philosophy

% Political science

Question Number : 286 Question Id : 16794312113 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
R # Twfaa o= #, Av vy 33w 1@ ¥ Br 9 eent # ¥ =6 @ F Us ANy & 9g= |
Options:

% 0T

» TBTHA TREEd

& SIAAET

o e
# Rl=dlideh 16 Fled

Question Number : 287 Question 1d : 16794312114 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Correct : 1 Wrong: 0.25
Fill in the blank choosing the most appropriate options.

Gender is a
Options:
« Social difference

% Natural difference

» Biological difference

» Legal difference

Question Number : 287 Question Id : 16794312114 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 288 Question Id : 16794312115 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Complete the following sentence by choosing one of the given options.

Generic knowledge about pedagogy is:
Options:
» knowing the content well

» knowledge about learning theories
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» knowledge about various disciplines

% knowledge about educational policies

Question Number : 288 Question Id : 16794312115 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 289 Question I1d : 16794312116 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Complete the following sentence by choosing one of the given options.

Learning Mathematics is easy for children with high:
Options:

» logical and spatial abilities

« logical and linguistic abilities

% Visual and auditory abilities

% mathematical and reasoning abilities

Question Number : 289 Question 1d : 16794312116 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 290 Question Id : 16794312117 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Complete the following sentence by choosing one of the given options.

Reading articles about the latest developments in respective disciplines is a way of:
Options:
» brofessional development

% spending time
% knowing new things

% getting to know latest news

Question Number : 290 Question Id : 16794312117 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 291 Question Id : 16794312118 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Complete the following sentence by choosing one of the given options

Pantomime is a form of dramatisation that is based on:
Options:
« long dialogues and music

» facial expressions and music
» mimicry and rhymes

% sound and lights

Question Number : 291 Question Id : 16794312118 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 292 Question Id : 16794312119 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Complete the following sentence by choosing one of the given options.

Creativity is developed through music when students are assigned the tasks of:
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Options:
» Synthesising thematic poetry

% Slnging songs
» choreography

% leciting poems

Question Number : 292 Question Id : 16794312119 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 293 Question Id : 16794312120 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Fill in the blank choosing the most appropriate options.

Execution of two or more programs at a given time by a single CPU., such as in a laptop or desktop,
is known as
Options:
% Multiprocessing
» Multitasking

% Multitracking

% Mass Execution
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Question Number : 293 Question Id : 16794312120 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Rerd Tt & fo0 we@ 39gea fawe 4|

o off TaT v Oy, S S I ST, W g T & § HiOe e & Ao #+ F
FT H ST AT R
Options:

% FCCTIIHTHT

v FodIaI L

w FeCIgiehaT

e
5 I Hﬂ'H\?‘Iﬁi'-lﬂm

Question Number : 294 Question Id : 16794312121 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Identify the limitation of Internet-based education from the following options.

Options:

" Lesser resource usage

» Limited experience of classroom dynamics

% Distributed across multiple locations

% Less content coverage

Question Number : 294 Question Id : 16794312121 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 295 Question Id : 16794312122 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0.25

Environmental awareness is best created through which of these subjects?
Options:
% Science

% Social sciences
» All subjects studied at school

w lLanguages

Question Number : 295 Question Id : 16794312122 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 296 Question Id : 16794312123 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Which one of the following is NOT related to learning theory?
Options:

% Behaviourism

% Cognitivism
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« Conservatism

% Constructivism

Question Number : 296 Question 1d : 16794312123 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

T=ela 7 ¥ 7 9 TecT dea & fEa ¥ g9tag 781 27
Options:
wpm

. HAATCHSAE (S aTaH)
v ®earg

% L=IAEG

Question Number : 297 Question Id : 16794312124 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Fill in the blank choosing the most appropriate options.

In a statistical distribution table, class interval is measured as

Options:
» the difference between the upper and the lower limits
% half of the difference between the upper and the lower limits

% the sum of the upper and the lower limits

% half of the sum of the upper and the lower limits

Question Number : 297 Question Id : 16794312124 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 298 Question Id : 16794312125 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Chain Notes is a method of evaluation that checks the student’s reflection about which of the following?

Options:
% Teaching learning material

% Teaching methods

+« Content

% Teacher’s explanation

Question Number : 298 Question Id : 16794312125 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 299 Question 1d : 16794312126 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Choose the best option.

Introducing Special schools for students with Special Educational Needs (SEN) in reality is a way of:

Options:
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% supporting them
% allowing them space for being themselves
% giving them special attention

» isolating them

Question Number : 299 Question Id : 16794312126 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 300 Question Id : 16794312127 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Distortions and omissions are clear cases of which type of disorders?

Options:
% Hearing
# Visual

» Speech

% Attention

Question Number : 300 Question Id : 16794312127 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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